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+ Candidate should do all the necessary rough work on the Question Booklet in the space provided. Rough work should not
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OMR TEa9[@2e 7[5 19 SM9ICS IR (s (2 e7a (@ ol 5{fSF1T 1-80 C1 ANl 71 TN SRPAIE 2ol 02
TitE % Wi*ce F=a FAif97 @ OMR TEIe19ee (961 (D€A@ | (@Il 4391 o Qe sowale Rarsas
T9NS FE 2R PGL Fe FF 13 |

Qg foriaat

« 9[31 9:00 IWF TS ePFIFOL #ArH FFo T4 |

+ OMR Teeo[@a T JQrBre Nell/Fal TioRB (AT 9% Teah! Hize 419 wisire Hist A4 #ifp
NGF, P9 AT ATSTH! 27 To1 TG A W< GHTOlF W14 g Tea Fiivet w414 At (Reh o1 ver
et ste 91 2°9) eSS 779 AR == ST go 2 A wa FAce wfofae @It OMR Tea#iq el
TR | 2AfSTH! 1 THT 2! &I T T&d 1T AT 0.25 AN T <0 ATSTH! 27791 24! 2 T Ted AT
A 0.5 A6 799 AR

+ Non-Standard OMR T€3[@ 9291 CFa® AT WO (SETEAFA (e 751, LHFITFOT FhiE
T4, eFIFeT FTLo! OMRTea[ad e Jize a1t Ffaq wiifara wiiw. A2 2Bt 2. #ITed 7jBrs <5t afen
W9 FRAT6F #1R OMR Tgaoigew FdFeira 53¢ F{7a wifa | S=yat OMRTGI7[aa Tz 1 7124 |

« A ERRCE FErwE Wl TeRfs/ @ ol wae e F1e1 AR, AR (SSEIS ATHITES S
2%e I RO WS ST OMR TSI Wi eiiFe<e s ol g 7oee | (I A
OMR T&a7i@ @ &%isig Tl friq sTee T oA JrF 9951, (SR (DL SoifFe I [l
79|

o AR e frl [ 313e (SEERT ([@IE T R Ffil wif |

A [Rve @A AT ermed T W< APB erieeed 7T 79906t OMR Teaoaq Fire Jize
foral 27 | TwizRerTCA, eMFITed $°T 270 T AT, AT 24 T4 2RPIFT T ‘A’ 2fFET OMR
Teeoiaq S Iz A Tl anfa o= [iwe 3'A' G v s =nfae |

AL FFCA! 419 LTS U541 (rough) PN 2eFIFeS Tl SISz SR #A1fR7 | 2 _RIFIC <641 (rough)
N TGIAG T (FIC] 4190 Fl9Er FRA (@IRIRE | TeI9iaqe Tt @ 2541 (rough) T 21 HRIICH (S Sl
390 TR IR I(E, (STOAR T (O &[G TeTR 31 724 |

¢ 2 T ) TRFACTS (T 4o et Qe it 3fE coirare SRR 2Te TAG FFACHIIR 6
wg M alf F41 29|

SIS Bl 4 SRR (@I AR AT O TR SRt i w2

¢ IRFRTPREE SR %5/ Mg AN (@0 (RIS (I, (PRt i (I €769 ([Quifess AN
A GEeE I8 ATTHITHCA TS TS T @ | qW G AR T THA ST FE | ST
T TN SR WPER Gkl F0F, (S0% (9€F Sy o1 Res 341 23|
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OMR T&a71@fb 53¢t FFA1 T AL T2 %60 208 2@ (@ 2ioita 1-80 21T 3% 7piafe] @piia
(e 200z 3% 50 00 23 (F OMR TER9@D (e O Gy | (T 21 RoTes LRt SReTCy W mwacs
TRSS TR LA2GG WeT P (0 |

« FE 9:00 THH ATE eief@ #Frw FHCS YR |

+  OMRTERItad T[T JEB6Te Aet/FITEN IACAD (21 [ W e’ Dire Faaia otd 2mifs A oite
T, F1ae 2lewe 2ifSb et oo e (Mead o) @R arFe i [ Ter v waid o (Taf ge
TEq (e A FA FA) AANE T WA G3R FaSe TH A Fl wd FHEIE G (@Il Sfofae OMR
Te7lq ST A | 1797 AF &lfST 23 T Teq (SR T 0.25 A SIS 799 G3R 2 799 A aifeld
AT TF1 ©ed (MSTIE T 0.5 AN T AFCA |

Non-Standard OMRT&27iq IR (@ 2RI A SRR SIia (et =154, 21| fFia i =194, 2| fEaia
et OMR Teaeitad fffS ZTa FITeN 900 A R ANGR D € (AL 2D @3 oo @ar
ARATFI5F o102 OMR Tea+iafs AFeITa 57e Fre A | A OMR TER2T@d Jeiaw F1 203 1 |

« oRweE FArwE (real TS/ @IF #ita TR i FACe 203, AL S 2R HTCT S A
TR T @R TSR OMR TEaoig @R erioi@ [Marsaes ool (redid s | (Il A9 OMR
TEA7[q 3R 2Pld Tl (TSI I AW 70 [ FE o1l SR, SIRCH ©iE SIS A0eT 91 1 203 |

ATFIFTE it e WS B Aifiseim Siom @iet 799 S92 Teee 21|

T ffeee 20T Tive TS eiisitar THT @R AT eititad (@e THAH OMR Teavitad WS Bt
(P11 2 | MRS, ARATEA (IS 776 T 5w, AR~ eReioliad (IS ‘A’ AT OMR Teaitad
ffre =i A forate 21 @3k 72 38 A © FiteT Fate =31

v ST e LA TG AT (rough) IS 290G (ST BT FIACS AR | 2R 297G (rough) ISt
OMR TG Al O (I 4R FI9NE FACS AR 1t | I AT @2 43701 (rough) 1S OMR TER0a
I 1AM 1 IR T, OF (312 OMR TECE= LR 1l =0 1 |

AT ST A AHACS (T LA ST 20 WL QAR SRt 20 SAE AHADIR oiF© W e
Nef 1 AN

¢ SAJP FARPIET (I AL TR Ol TR Sfe e |
o AT 2K T/ FCF @I R AT (T (IRIZE (I, FIEFCE0F G- (P! @fess amiees i

wiolfea A 295 T2 T SIS (el @ 1 | AL T @I SPIR THAR S[eTw 00 (1l
I I o1 M TR SRS ATHIR FTPTR Geik S IR, O SITR Sl (1=l 91 23 |
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OMR ftret feretTs@t 31rel wremera fam=r, famforan st wemafer g, 1-80 fam midst faemgwr
Hiter ferstrarea Wi Yerat-ma § 3 OMR ff= faemgan maft ararae’ o sSrumEist wramafer g |
UTETHER S-S WTsAT Tifer forstreat Tremamr gt orare ArEfeiieEt aremr fafemn

T faen=
o T 9:00 Femt Tt Hifr foemg@t esie @umaTea @eHt AT |
« OMR fir faemef gramma sEaE e/ aeug< woms 9 e fam gematt farst
TIfoREr WSS WA @R, AT AforEre: mewemet Sifatt mafer frat arama e deat
ifae fr A [t arEr (SR, MRt fR THEEE S ) S T e IR At
TR~ SATHEAT ST T8 AT TGS Wil ST (R faelTs SFTE SH™ ST | JiF%id 1 81

o Wit MAfeer frratT 9mET 0.25 TFE’ AR TR HIMWhIN 2 Tl o |t mafer fte
BT ARG 0.5 TG’ T AT |

« Non-Standard OMR Tt fareTrg st fafereTta fasnforar e maft W@ e, ity faemef wift
., Gifyr faemsf sewEr OMR fFa faemsf Sramma srermare M @rerET @ mr farfaft
faczara o SAfusmafT faezare dFa wiEr 3Rl foam (smfmr) faem 9T g wremEt
M| TSTsAT OMR R feremmgEt e emTs ST -1 |

o faTamRIRT Tas GfEg 2 T | God TSIE GUEE BEHT el e SR St e fosmme
faremg 3l OMR fire fargEt e THa | OMR TR forems ot wifer faemsat nemamma T fasmfern

F‘%’T;EBTF@W fora SIESIHERSCIERIE! ‘5|"|"|Iq\ AT ST |

o ity faerzare 2MmE fremr s festern Tamd e o TeRg! foaEimim |

« ity faemst TR emir ity faenef s =@t OMR fiRa faemsf Sremm s faamat
R fersierar e s e fafefer aifed, wita faemst ws e EmeraTe |ure feete
T Gityr faemst s ‘A SEser OMR iR feemsf gramma siaemare ‘A faer =i e
AW SE= A T E Sy i |

o foenfermr migst IEmf T SR WA TR (rough) TG Qi faemst Sramm srermerers
WA A | fsforerT e TR "t i faere wen fafe 1em Jhmtt o faegama
WA B ST TR foemsams o Qe TRFARE™ (rough) @rETfRat farsifern wrerisen T foret
ferfa (overwriting) BTEATHISAT TaT TTHL TMeRAT (whitener) OMR TR feremzamar wiHIse & OMR fte faremsat
AR S ST |

o Wity foemet fosi Tan wWHEAEe el TR ATEeAr T Ji HA-rre a1 Srarsel g
A RIS FWiFer faemg@i=r s gea THEET A S |
o AR WfAEER AR FHE Taa fosierg! sTsmerfe MR i TR SR S 727 |

o STFSTETIfE/ATaTe FRa forsTersRT e M= gar Sk el %, shetghelel e fafe @i AR seishefTeh
a1 sTeree faf fasmferdt <FH 2 S |
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OMR ST-T=eh ol WA | Uget wdrgnelt org gffyea ot o fon wo-gfqant # 1-80 a0k |eft U8 shomrgam
Hfea ¥ aer 7% off gifyem ot of foh OMR STR-Ueh shaet S & Haitea &1 ferdt oft fammfa ot fearfar
H 1O WoT-YRaeRT sIger ¥ dehtel fRiereR sl gierd i |

* TTE: 9:00 SIS W U THT-heT W YyT-Yfeaehl T @i |

* OMR STR-UF% o SUIRhH I | U@ TN okl ot/ il dier-wrge U | fafed & | ud, |sft wo=t
I SATYdeh UG &, ShIRUT YIUA: TeTd SR 3 Teh & W9 o Ueh § S1fueh faehed & =& &9 W
(518 T 3T U S0 ) TehRTeeh 3ieh Rl WA & 31 fgetaa: fondt oft were et TTerdt s1eram
HuR & fog stfafs OMR ST-user & fear @) u&iek 1 3feh ol U9 o T 3T WX 0.25
TR 31k 3T Yk 2 3ieh a1l W9 o TTeTd ST WX 0.5 TehRTeeh 3ieh € |

* TX-HTeh OMR ST-USeh oh STEER o WAl W, Temell i AHarid: 3TuAT Ut o), Yy-gfaent
ATk, UIT-YRAehT Shis OMR ST-UAeh § fGU T T & BTHifehd ST G 9T Ueh JUIHTET 3{
HEATHE ®Y OMR ST-UF ok 3TN 3T We st U o foamm W1 3r=gem OMR SXR-UAeh <Rl
IR el TehaT ST |

o gitenfeat et frarer g S 8 Sufkerfa et 3t WSl o) STe i B, Teel aR STe qdterel alter-
Fe B O W W 93 WY e, T THA IR FRIersh ol JeA-fdeht a1 OMR STR-95% Fid- & T3 |
3R foheft wiemefl 7 OMR STR-Tah qe WeA-YRdehl Hiad THY TEA&R T U, T 39 STdfkerd |1 SITa |

o JH-gikgent § Hfde T w gdaneff s1a a1 o = w9 A fag |

o gitemref @ ity X of foh 3k g forelt =it wy=-gRaeht W qen Wid U9-Yfdeht sis OMR
IAC-UFh U Hel &1 ITEAUT TWEY, U9T-YAhT ShiS hi WA G0, TG GLremelt hl 99-URaeht shis
‘A TS, 9 OMR STR-U=ah ® QU T Siferd § ‘A’ TeT@r 81T 99T OMR STR-Ueh | ‘A’ Shi STEITehd il
M

o TRieTeft Ff TE BT I (rough) 1 T-JRaehT H U 7T T IR X Hehil | Th 1A OMR SW-ToAeh A1 373
forelt TRE o TSl W T2 B Wehil | Al FIg TH 1 AT AT OMR STR-T5h TR fohaan 721 =1 foistah
1 JA fohal 1, A OMR STR-T5Ih 1 Heih el TRl ST |

o YUYl ok HTLAH/AERIOT § fordt ot fadwfa ar yw =t fearfa o 0 H&eruT & Wt 3em |
o TN & SRE fREt oft gdemell w1 wdien T Sred wt eufa T ¥

o T IS wiemefl Tora AT ST U IR S © 27 Ufasifia Sl T S Hiesd W, Shegere] a1
et e 1 Agfas Al STeren st a%g onfe, feht wien eict/wet § s1ufa T €, @ 39 s
HIAT ST |
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1.  Which of the following countries does not exist presently ?

(A) Switzerland (B) Czechoslovakia (C) Germany (D) Poland
1. FfERe @R omt o9 e wieyg @ig 2

(A) pEERCETS (B) GFwlteRF  (C) @i (D) CofitaTes
1. <d @ e T8I Sy #7132

(A) EEEETS (B) e (C) i (D) CoAleTie
1. TR 99 g At fifern 2

(A) HEoReTS (B) =& @i (C) MM (D) Toe
1. f=fafed § 9 S9-91 29 gdaq | e § T8 § 2

(A) TEsels (B) <rdEnRAl  (C)  SHA (D) drRig
2. Which state is the official sponsor of Hockey team of India ?

(A) Punjab (B) Odisha (©) Haryana (D) Uttar Pradesh
2. (TR AT OIS T R BB SICAITS 2

(A) HAGR (B) Sf==ml (C) ZfEI (D) T oo
2. (I AIST SRCSA 2 WET TR SICANTE 2

(A) AgR (B) efT=i (Q) == (D) Ted Ao
2. YA g'f ere SREi Hee 2R TS o ?

(A) =TS (B) 3fem (C) I (D) W YW
2. XA i Bleh! W 1 AR HTAISTeh hia-H1 T67 © ?

(A) TSI (B) fifegsm (C) = (D) W YW

3.  What would replace # in the sets ?
{5, 120, 3}, {9, 630, 5}, {9, 810, #}

(A) 8 B) 7 € 6 (D) 4
3. {5,120, 3}, {9, 630, 5}, {9, 810, #}

TS # bz [Fg Afogionm 1 2

(A) 8 B) 7 <€ 6 (D) 4

Y

3. one Afoufhre # Hebe 2w St dfegifre o 2
{5, 120, 3}, {9, 630, 5}, {9, 810, #}
(A) 8 B 7 € 6 (D) 4

3. {5,120, 3}, {9, 630, 5}, {9, 810, #} YIXHRIE # W AISIl TG T 2
(A) 8 B) 7 € 6 (D) 4

3. "HEA {5,120, 3}, {9, 630, 5}, {9, 810, #} H # T T FAT T ?
A) 8 B) 7 € o6 (D) 4
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4.  What should correctly replace @ in the grid ?

13 [ 450 30
21 @ 8
32 | 782 23

(A) 196 (B) 184 Q)
4. fove 43l @ B! [z afegioe I ¢

13 | 450 | 30
21 @ 8
32 782 | 23

(A) 196 (B) 184 ©)

4. SHIE @ FE (@G AdFeE AT =@ ¢

13 | 450 | 30
21 @ 8
32 782 | 23

(A) 196 (B) 184 (@)

4 @S o g e 2

13 | 450 | 30
21 @ 8

32 782 23

(A) 196 (B) 184 (@)

4. fUs ¥ @ % &t dl% ¥ F SISl =fey ?

13 | 450 | 30
21| @ | 8
32 | 782 | 23
(A) 196 (B) 184 (@)

214

214

214

214

214

GET IT ON
Google Play

658

658

658

658

658
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5.  From the Constitution of which country, the concept of residual powers in the Constitution of
India has been borrowed ?

(A) Belgium (B) Canada (C) France (D) Switzerland

5. OReIq FHYTe SRR O QREl (SR (I S9N @I a0z 2

(A)  (@EfeRS (B) @l Q) ™ (D) LIS
5. S0 TR SRHB FoR 4Rl (@ MR TR (2 417 9 TR 2

(A) (@@ (B) @l Q) T (D) eSS
5.  9FEl @i BFeiferdl YAt Sfefeeme 9t o« gekf+ Giafsef e o [ e Sie 2

(A)  dafsEm (B) RISl (C) WM (D) HEIRaUE
5. 9N % gy ¥ STafire earsti st srenen foey 9w o diayus 9 off T 2

(A) dfesem (B) TSl Q) W™ (D) fEEsReie
6. Who amongst the following is a wrestler ?

(A) Baichung Bhutia (B) Lovlina Borgohain

(C) Sushil Kumar (D) Karnam Malleshwari

6. fnfie @RI 9 TEEE! 2

(A) RGOl (B) TSI <ola®

(C) T PR (D) 11 MRS
6. FRFEIRSHTR T (& 9Few FBAR 2

(A) R gow (B) @efm w3

(C) T g (D)  SFIFIN =
6. TRAM R a1 GHETIUT ?

(A) =g yfem (B) el = 'eT

(C) Ut FHR (D) HUOTH Heeva]
6. Trfafead & § &M FHediars €2

(A) @G yfe (B) AT SRS

(C) Heia FAR (D) &0 wearRad
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7. Which of the following travellers had visited Kamrupa Kingdom ?
(A) Fa Hien (B) Hiuen Tsang  (C) Al Biruni (D) Marco Polo

7. F=FlRe @F [ oRass Feeel ey o R 2
(A) e (B) 2w Bk (C) eI (D) W oIcA

7. Tz Tamie @ sifiaes smmet qien sl safzee 2
(A) w-ferw (B) fRSE-le Q) SH-EF (D) SR CotieeT

7.  TEMEE BHE d¢ 90 e HHEq TS AR Heige ?
(A) e (B) fesw =i (C) T ot (D) TR drell

7. Tr=fafea § 9 foog anh 3 sHe9 g s SR faar o ?
(A) HRIM (B) & M (C) T & (D) TR drell

8.  Identify the water reflection of the given figure.

T 7 =
@ | A e T

8. e bus T efowee Bacs! e 3= |

i)

o

[ _ 7 3
1 o

o
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8. ona brad e AfSTee Fe 3o |

GET IT ON
Google Play

(A) (B) © (D)
8.  BFME WEmRT <eme Rftrrerdr faam
(A) T (B) —\l/ © (D) T
8. fouwm a3 & o1 wfafsia =1 we=m |
(A) T (B) —\l/ © (D) T
9. The remainder when —46 is divided by 3 is :
A) -2 B -1 © (D)
9. —463 3 (3 [ TR &AlY SHRG! (2R 2
A) -2 B -1 © (D)
9. —46 (F 3 7R Ol FACET TS AT 3
A) -2 B -1 © (D)
9.  —46 T 3 S TIsAT ATCAE TGS
A) -2 | -1 © (D)
9. & —46 i 3 Y fauifer foran Sian 8, o 99wa ©
A) -2 B -1 © (D)
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10. The product of the mean and the median of the data set1,0, —5,3,0, —2,4,6, —4,1, 2is:
A =l B 7 C o D 2
10. St 1,0, —5,3,0, —2, 4,6, —4,1, 27 oG < TS o702 2
A =l B 7 C o D 2
10. S ARG AE© 1,0, —5,3,0, —2,4,6, —4, 1, 2 &3 VG G LT BT Z6 §
N B o £ D) —
(A 35 B 13 © 3 D) 1
10. @A™ 1,0, —5,3,0, —2, 4,6, —4,1, 2 7 oY 30 AT AT
N B o £ D) —
(A) 35 B 13 © 3 D) 1
10. AV 1,0, —5,3,0, =2, 4,6, —4,1, 2 F A1eA IR WIfearsht T OFHA ¥ :
A =l B 7 C o D 2
2
11. 16% of (16 +16)" ;.
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
11. (16 +16)" q169 g3 ¢
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
11. (16 +16)" x169% ze1
16 X 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
11. (16 +16)" 5169 @t fag
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
11. (16 +16)" =7 160 qum 3
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
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12.

12.
12.
12.

12.

Name the Mughal emperor whose army was defeated at the Battle of Saraighat.

13.

13.

13.

13.

13.

(A) Aurangzeb (B) Shah Jahan (C) Babur (D) Humayun
*J[2A63 T@© #IFITR I99 T Q91 AHOG (FieT 2

(A) SRR (B) BIEEIRH (C) 3R (D) =TI
AT J07 (@ N9 FHIG #[A1Tere 2R IR w13 & |

(A) SR (B) &z« (C) IR (D) =R
GUEETE SR TSR Hoe HHIET HIH M ?

(A) SiSE (B) I SRH (C) @R (D) BARA
39 Tl WU Tl A Sa1sT Feh! T INEHR o I | oR Tl off ?

(A) i (B) VI&STRl (C) R (D) &H
Which of the following is NOT an Assamese novel ?

(A) Adha Lekha Dostabez (B) Deu Langkhui

(C) Xekh Pristha (D) Ontorip

f=fere (@G @ STt To T=w 2

(A) ST IS (B) (M8 #kYT

(C) o ol (D) =@t

TIEA T ST TAT 7 2

(A) S (& SIS (B) (IS #IRYZ

(OEN&EEE) (D) &Il

TR F&1 STHHAT ¥ |l ST 7

(A) e foran s (B) <@ oiEE

(C) 49 g= (D) =Ry

freafafad 9 9 sE-w1 Taf U= & § 2

(A) ST oG SEa (B) <3ATES

(C) 39 g (D) Sy

14.

14.

Three numbers A, B and C are such that the HCF of A and B is same as the HCF of B and C. If the
LCM of A and B is three times the LCM of B and C, then the ratio C: A is :

(A) 1:9 (B) 3:1 ) 9:1 (D) 1:3

TG 7124 A, B 9% C GWE SNCZ TCO A < B T 5911 B i< C T 5P (A0S A | I A <19 B
I B R C 9 oP7ed fofl @6 27 (o8 C: AT ¢
(A) 1:9 (B) 3:1 (€ 9:1 (D) 1:3

Paper-IVIA 12


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

14.

14.

o M40 A, B @32 C @59 (T A 938 B @3 9071%, B @3 C &7 P71 37 | T A @32 B @3 oP11@ B @_]
C 93 #7129 foTes 20 O SRie C: A ([ 3
(A 1:9 (B) 3:1 < 9:1 (D) 1:3

A, B, C safsmrn si@mfe St A 3T B 7 .3md o B &R C 1 Qaman 5 guH 1 §fc A 3R B 4
ILEL A B AR C 1 g 304 1 Aesmermem, stee C R A 17 e5jemn

(A 1:9 (B) 3:1 < 9:1 (D) 1:3

14. N §@&IT A, B 3R C UHi € o A 31k B o1 HedH HHTed, B 31~ C &1 HeaH FHIadh o 99M &1 Ife
A 3R B 1 A9 GHYE, B IR C % oI¥[H H9ac 1 a4 A1 8, 9 ST C: A ® :
(A 1:9 (B) 3:1 < 9:1 (D) 1:3
15. Who amongst the following has been awarded the Gyanpith Award in 2024 ?
(A) Gulzar (B) Arup Kumar Dutta (C) Ratan Thiyem (D) NilamaniPhukan
15. FRffis @ /FE 2024 7S TS 61 &M 791 7202 2
(A) ST (B) SSAFIRWE  (C) oo famm (D) Tl 2wt
15. 90 TEiem@ S & 2024 I @AY ATRIE SR 200 2
(A) TSR (B) SRAFIRWE  (C) oo AN (D) T Fa
15. 2024 TR FUG AU GR Al SHE SG) 2
(A) TSR (B) EIFHAR T (C) T fom (D) frer'aft e
15. frfafed § @ f6d 2024 % FEUS QR 9 FrATtTa fohan T € 2
(A) TSR (B) I FARTT (C) A feam (D) e ek
16. Yesterday just after sunrise Rajiv met Samir and was talking, when Rajiv noticed that Samir’s

16.

16.

shadow was seen towards the right of Rajiv. Which direction was Samir facing ?
(A) South (B) East (C) West (D) North

@RI SR 03 forere AR ATNTE 191 2113 T2 SIS TS AR o7 IR @ W Q6!
IGRA G FICA AR TANE @ e 2 I oiifea 2

(A) W (B) = (C) 6w (D) T

TSI IO #92 AG R AT FC (W] (R I Je(eT, O AG o) FeT (3 AN QA AG A
TN e et vz | TR (i e 320 503 fzeT 2

(A) Wl (B) & (C) =If*ow (D) &=
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16.

16.

T O @A™ 3G qfSten TR@l drit /1 TR TEeers aFeEe afsen 399 f§ afmf armet
ISTaI STTRTe Tetal | i sfe gt STeine 2
(A) e (B) HrSIY (C) HHmEfy (D) =Y

%ol YART h Ik d1% Teid FHR § e R 9 o @ 9, aff T 3 <@ foh Tk a6 WeE TS 6
et iR fomrE § @ off | TR o1 g forg feon & o ?

17.

17.

17.

17.

17.

18.

18.

18.

18.

18.

(A) TfEm (B) TUd (C) ufeem (D) SW
Which Hindi poet is known for “Madhushala” and “Agneepath” ?

(A) Ramdhari Singh Dinkar (B) Haribansh Rai Bachchan

(€) Sumitranandan Pant (D) Maithili Sharan Gupt

(IR 2 SR T ST “Sfe12T” AR TSt 2

(A) TR PR e (B) =R T A6

Q) IFAh@ve 7% (D) CfeE! At &g

i 2% IR T @3 “wfered” T sififoe ¢

(A) T PR e (B) Rz A I

Q) IFAhl@ve g (D) CfRE *[e @

R fe=<t wramsfifien * ayemen’’ o/ stftefa’" aram fafesman 2

(A) AR T feTe (B) e [F =

(C) a9 9 (D) Hfoel Tro T

HA-1 &t wfa * wegenen’’ o) sifiaer’’ & fere ST S € 2

(A) YR 7 feTe (B) ®Re® T o=

(C) Yo dd (D) Hfereft w01 T

The product of two binary numbers 101 and 10 expressed in binary numbers is :
(A) 1001 (B) 1010 (C) 1100 (D) 1110
U0 &o 2elleT FR27 101 WNi% 10 I 26IFe] o 2lelfeTio 2ipi| FiRce] 279 ¢

(A) 1001 (B) 1010 (C) 1100 (D) 1110
w26 fafiks 347 101 €% 10 @9 @oee BfRE TR 2Iwors 2 F0E el T 8
(A) 1001 (B) 1010 (C) 1100 (D) 1110
HA SR S 101 R 10 7 FESTemEE! SRR S wREs
(A) 1001 (B) 1010 (C) 1100 (D) 1110
<1 fgammemdt demstl 101 3R 10 &1 ToHEe fgeeRt Senstl # T8 oo foran S © -
(A) 1001 (B) 1010 (C) 1100 (D) 1110

Paper-IVIA 14


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

19.

19.
19.
19.

19.

Kalbelia is a folk dance form of which region of India ?
(A) Kumaon region (B) Chota Nagpur region
(C) Konkan region (D) Thar desert region

FIECERT SO (I ST (S0 Tl 2
(A) T ST (B) (RGHIN7F SIee
Q) SRR (D) 29 TG w=ee

PR SIS (I SHEE G0 (AT ?

(A) TR ST (B) (=G wol7f SIgea
(C) T« S (D) <= RPN s
FHIANTAAAT YRAT o6l SAHIA g AHEE 2

(A) FHRA AFE (B) B ANR A-HA
(C) whehd TG (D) R STl &1 SAEI
TSI RA % T &1 1 Arehgcd 1 It B2

(A) FUE & (B) Il AR &=

(C) hikYT & (D) R YT &=

20.

20.

20.

20.

20.

The average of 9 observations was 9, that of the first 5 being 10 and that of the last 5 being 8. What
was the fifth observation ?

(A) 8 B 7 © 9 (D) 10
(I 9 Bt 2[99 51T W 9, A=A 5 B 57T el 10 Sk (A7 26 G Wy 8 | #%eT #awo] Wil F
oifeet

(A) 8 (B) 7 Q) 9 (D) 10

9 5 sifrmrred oo =7 9, 212w 5 57 10 @3k *1F 5 571 8 | #I=e% #[ =i F1 fee 2
(A) 8 (B) 7 C) 9 (D) 10

O 9 TEEAERRA et 9 : famifas 99 5 11 18T 10 R 3999 °9F 5 81 &' & e 9 ?
(A) 8 (B) 7 Q) 9 (D) 10

9 3TecATehl hT STEd 9 T, Tged 5 kT 31d 10 o 37 3ifas 5 1 379d 8 o1 Tiwal Terciieh] o o ?
(A) 8 (B) 7 ) 9 (D) 10

21.

21.

Which of the following colours is NOT seen on the Olympic flag ?
(A) Green (B)  Yellow (C) Orange (D) Black

Sf™1Fq oroiFTe AEfkile @ 399l i 2
(A) CIEEgE (B) ZT&ARI (C) vgfeat (D) a1
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21.
21.

21.

Toa @ 78T St oo ¢l T 2

(A) & (B) =W (©) =& (D) =eicemt
Afafraer frfRamEe s« e f=r ?

(A) i (B) TIHITE (C) =T ™ (D) TG e
frafafaa o 9 wE-1 41 ey e o T8 fomar &2

(A) ' (B) dfem (C) Rt (D) <hTeTl

22.

22.

22.

22.

22.

A metal sphere of radius 24 cm is cut into 8 equal pieces and one piece is melted in the form of a
sphere. The radius of the new sphere is :

(A) 12 cm (B) 8cm (€) 15 cm (D) 10 cm

24 (5f TPIZS BT AT (9IRS FID TN 8 ol T 2o SN AN TOI5F 271 GF (T SFfoe
SENE (TN T | T (ST APAE 23 ¢

(A) 12 &N (B) 8 Gof (C) 15 & (D) 10 i

24 FLI. PN @6 4o (leTRes 8 B A ©itsl T 1 = @R G0 FREIE (A S
SN 2T | ToeT (oNETFT AT 2 ¢

(A) 12 @I (B) 8 Gifl. (C) 15 @I (D) 10 @I

T4 24 9.7, 9'E@ T 9 SOE 1 8 WIS SwEE S| 9 9e wkrat safa 2H geX
Y TA™ S | o TeM U 9 gl si&ei ?

(A) 129fm (B) su.fm. (C) 159fm (D) 10 E.fa

24 Q.. 550 9Tl U o1g & Tiiel ol 8 SRR Zehel | h1el ST © 3R Teh Zohs ol Tilel o &9 H fasremman
ST ® | T e oy R R

(A) 12 .. (B) 8 9. (C) 15 @ (D) 10 &.41.

23.

23.

23.

In Assamese literature, who is known as the “Dhwani Kabi” ?
(A) Binanda Chandra Barua (B) Ananda Chandra Agarwalla
(C) Mahendranath Deka Phukan (D) Mafijuddin Ahmed Hazarika

ISP Afor® (@ “R/iT FR” sl T 2

(A) R be <=l (B) Sl & eIl
(C) WL (THITI (D) wIRrgfwe NRem FSRH
(A) Rew vm =@ (B) SN b SRS
(C) 2L (T T (D) Sifrereiue S2rsm S
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23.

23.

STt YFersard, 9 et e’ g fafersma 2
(A) o< =g o%d (B) A< == 3ANATe
(C) HR=AY Shl b (D) WthsEfET 3MeHT B ‘e

st wifeca 8 ' et wfa’’ & A § foRd S ST R 2
(A) o =g swen (B) A< =g AR
(C) W& Soh1 Tk (D) HAMASEN 3TEHT BTG

24.

Rearrange the following components to form a correct sentence.
i)  where no man had

il here we are strolling

~"

iii) ever set foot before

(
(
(
"
(
(

~"

on the surface of the moon
(i) - (i) - (iid) - (iv) (B)  (ii) - (iii) - (i) - (iv)
(if) - (iv) - (i) - (iid) (D) (@) - (iv) - (iii) - (ii)

iv
A
C

~— ~— ~—

25.

25.

25.

25.

25.

Which country are Kira and Gho the national dress of ?
(A) Nepal (B) Cambodia (C) Bhutan (D) Vietnam

1 9= (A @I (IR TSI AG-CARSF 2

26.

26.

26.

(A) oI (B) FFTEx (C) oo (D) fowasa
Tl @R (1 (I CCoR ST (A 2

(A) oI (B) =cHifw (C) oo (D) feweaw
R &R = 31 e BIeU BRI T ?

(A) U (B) ¥ 'fean (C) HqaHd (D) T
R 1R = forg <91 &1 T e | ?

(A) Ui (B) hatean (C) YeH (D) foardm
Which of the following is NOT a non-metallic mineral ?

(A) Silica (B) Limestone (C) Bauxite (D) Dolomite
RS @G S-ex 4fe swief w2 2

(A) oo (B) peif@ (C) ;D (D) TewTH
oA (@D S-dreq Afve 77 2

(A) Frferml (B) pelisiie (C) LD (D) TCAIES
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26. TS S YIAfS @i oHg ST ?

(A) fafass (B) g 3T (C) whumEe (D) <a'HAEe
26. Tr=fafed & @ SH-91 te qunfas ks & 8 2
(A) TEferen (B) IAT-Teer (C) dwieEge (D) SRS

27. Which of the following is correct ?
(A) Volcano cannot exist underwater.
(B) Sea does not have any water current.
(C) Almost 70% of earth surface is filled with water.
(

D) Land mass is almost half of earth’s surface.

27. WRRRS A2 @NE eT 2
(A) SIRFER ANR weTe IS AR @RIE |
(B) IS (I 4F°[ AT Gif® TLACF |
Q) +feSIT THSR =l 70% ot 2T SRS =iz
(D) 7RI THRCIT AR W@ e GG |

27. % TS @A wn 2
(A) e T SRR ARCS #I1C 1|
(B) TER (I ST (2|
Q) Tt 5 2@ 70% St Tiee 7|
(D) <|fAS 2JFa 2T SEF Farelal |

27. TRMAEM Serl AR ?
(A) 3T drEreT § feTa omn
(B) TRl Sialt € SRR T |
(C) WM U= 70% STEFISTHI < S SHaH |
(D) T-Wr<1eT g-H|H I8 @ed |

27. freAfafed § 4 aR-T @@ €2
(A) SATATE! I o 1S HiS[G el 1§ Hehdl |
(B) YR W g STAURT el |
(C) gt i TR I AT 70% AT IHT F o1 g T |
(D) 4T Yol T TAE 1 TN ST g |
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28. Which present region of India did King Lalitaditya (Muktapida) have his empire in ?
(A) Northeast India (B) Kashmir region
(C) The Kutch area (D) The Deccan region

28. IS SN (i TS I AGTONME) (TS W) T AFST Sfee ?
(A) TEoReRe  (B) IS S (C) FoRoE (D) WifEpeTey Seea

28. TSN SRCSA (I S Aen Fflereifrrer (e wrey fes 2
(A) Te-sFeome  (B) IR S (C) IvEI (D) WifsFeirey S

28. YN Afciaifeed (FafeT) T ArmEsiiet iforare vRaH o« g ?
(A) H-UEST ¥RA  (B) HRER i€ (C) %o 38 (D) SRk HE

28. NN Afcdifced (HeTdTE) sl THST WRA o fohd ad9M &5 § o1?
(A) AR 9Rd (B) HEHR &= Q) F=3 & (D) TR &

29. Identify the pair which does not follow the common pattern.
(A) 6:OXYGEN (B) 5: ARGON (C) 7:CADMIUM (D) 8:BROMINE

29. T(IZSF BIGIH SpEel w14l (TRICH! ol T |

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE
29. @ CEICID AR T (S7GR) SRe FCH T OIS Hfers e |

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE

29. S ST EARRAG TW fRme " ot v’ ?
(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE

29. 3T SIS I UEEM L S WHAH U+ 1 U Tl Hid § |
(A) 6:0XYGEN  (B) 5:ARGON (C) 7:CADMIUM (D) 8:BROMINE

30. Who amongst the following has not won the Jnanpith Award ?

(A) Birendranath Dutta (B) Nilamani Phukan

(C) Hiren Bhattacharyya (D) Mamoni Roisom Goswami
30. fRMIRIS (P SIRIFICE @inTo 51 sTfe 1 TR ?

(A) =L e (B) <ieTfel T

(C) N SEHRG (D) S =R CsirErn
30. IR TERetR W (F @AY SFTHR TS FE 2

(A) TEEIL T (B) TRl T

(C) &&= o (D) IS = CoirRs
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30. TEMEE B ER WA JEYS Sl HiEng ?
(A) TorsTa s sl g
(C) f& et T S T T
30. Tr=fafed § @ foram IMdIe R & a1 § 2
(A) g™ Fremfor Feha
(©) feu wgrm AT e T
. 1+242+343
31. Find the value Of1+2+6\/§—+4\/§'
1 1 3
(&) ¢ B 3 © 3 (D) g
1+242+33
31. 1+m—+maﬂmﬁcﬁ@¢|
1 1 3
(A) 2 ® 3 © 3 (D) ?
1+242+33
31. 1+m—+mmwﬁcf‘ﬁml
1 1 3
(&) ¢ (B) 5 © 3 (D) ?
1+2v2+33
31. 1+M—+Mﬁﬂﬂﬁ§=ﬂ
1 1 3
(&) ¢ B) 3 © 3 (D) ?
1+242+343 -
31. 1+m—+mwnﬁaﬁa€i.
1 1 3
(&) ¢ B) 3 © 3 (D) ?
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32.

32.
32.
32.

32.

Which Assamese movie is based on Bhabendra Nath Saikia’s novel, Ontorip ?

(A) Pratidhwani (B) Krishnachura

(C) Barua'r Xonxaar (D) Agnisnan

TR *FHRF TAN FGT/7/7 I NS (T SR @EBR e 2z 2
(A) dfewf (B) FapUl (C) IR AL (D) SIfare
(I SR GEbAt S@E 1Y *BF R @)% GANP SRETH Wi 2

(A) «fowf (B) FpTl (C) IR AGI (D) IR
MR Fe STEHA YA Yo=Y Feiohal §e1 ™ sTaR g7 |rame foen | ?
(A) wfdsa (B) HWREI (C) o%e T HER (D) SAfEM
FA-G i fhed weig T Sfepan & SU=E a1y W STefia § 2

(A) faea (B) HEEl (C) o3I’ HER (D) &M

33.

33.

33.

33.

33.

(1% of 1)+ (2% of 2)+ (3% of 3)="2
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

(19 1%)+ Q23 2%)+ (3T 3%)="
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

(1 99 1%) + (2 &9 2%) + (3 & 3%) =2
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

AF1%)+Q2F 2% )+@ 3% )=?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

(1 T 1%) + (2 1 2% )+ (3 FT13% )="?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

34.

34.

34.

A curved waterbody formed when a river changes its course to take a shorter path is known as :

(A) Archipelago (B) Isthmus

(C) Oxbow lake (D) Delta

Tt @2 55 A2l e 9ifS TN FRCE A0 (@A A5 IF TETSOIT @I 2T 8

(A) 715G (B) @S

(©) g (D) 3-%

GG T} T2 ©IF 5712 2AfIE FE (R #1277 S (T IFIPIE ST 91f5S 27 OIS A0 ¢
(A) aloi7g (B) @&

(©) oIl gn (D) -
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34.

34.

35.

35.

35.

35.

35.

ST G S @ AT SeserE WfSE SRe SrRfe HeiEl Sarerirat TS |
(A) Teu ger e (B) ® Y

(C) Tz ST o (D) =-feu

S IS el Blel AT 31T o feTT 37O 01 seerdt § @ o aTell SHTEER STerRIfeT b sl Sl ¢
(A) €U aTE (B) TUCTSHEHEA

(C) gy et (D) e

A cone has a base radius of 4 cm and height of 9 cm. The volume of the cone is :

(A) 36w cm® (B) 48w cm® () 13w cm® (D) 24 cm®

@5 %P9 ST PG 4 (6.1, W19 201 Towol 9 (5.1, | *FER ST (2% ¢

(A) 36w .f3 (B) 48w v.f3 (C) 13w .3 (D) 247 &.f3

@35 *F@ Sfi-hid 4 ELA. @3 Tl 9 @A | *FTa s 2= ¢
(A) 36w @3 (B) 48w M3 (C) 13w @3 (D) 247 @3

T Sergf emi 9 e 4 9.0, R Starean 9 .M. | 9 S s a8 2
(A) 36w 9.fa3 (B) 48w Q.fa3 (C) 13w @.fus (D) 24w Q.fa3

T Vi o TR 1 52 4 A, R o 9 WAL §1 3 ol ST © -
(A) 36w H.H3 (B) 48w W.H3 (C) 13w q.#H.3 (D) 247 9.3

36.

36.

36.

36.

36.

In which city is Dalal Street located ?
(A) Kolkata (B) Chennai (©) Hyderabad (D) Mumbai

ETE Zio (N TS SRIZS 2

(A) Tl (B) AR (C) ™ (D) T
Ve T30 (i =2 SRFS 2

(A) =TSl (B) AR (C) =HERM (D) TAR
qredTe Teger =i ?

(A) e (B) =g (©) =R (D) T=IE
TeTel e fond wret H frem § 2

(A) PIeThTa (B) = (C) =TT (D) HeE
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37.  Simplify : \/51 + 134 + 522 + V16 + O
(A) 15 (B) 12 (€) (D) 16
37. 1 377F 2 \/51 1134 + 542 + V16 + O
(A) 15 (B) 12 (€) (D) 16
37. IR F ¢ \/51+\/134+5J42+M+\@
(A) 15 (B) 12 () (D) 16
37. \/51+\/134+5\/42+ﬁ+\@ Gl T el :
(A) 15 (B) 12 (€) (D) 16
37. WA R : \/51+\/134+5\/42+\%+ﬁ
(A) 15 (B) 12 () (D) 16
a_+4 6ba+2b
38. If b 3 then the value of 1a— b is :
(A) 3 (B) 4 ©) (D) 6
a_ 4 6a + 2b !
38. m‘%g—g,m@ e op SN
(A) 3 (B) 4 ©) (D) 6
38. ﬂfﬁ%=%®\o Zaiizawmﬁf
(A) 3 (B) 4 ©) (D) 6
a_4 6a + 2b
38 Iy = T o
(A) 3 (B) 4 ©) (D) 6
a_4 6a + 2b
38. A =2, — €
(A) 3 (B) 4 ©) (D) 6
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39. If Cosﬁ=%,then the value of sin6 is :

N 5 12 o 2 L 13
39. M cosh=-—, (O sinf I I 2

N 5 12 o 12 L 1B

*) 1 B) - © 3 D)
39. aﬁcose=1—53§zr,w_qinmamamz

N 5 12 o 12 L 13
39. f<cosd=—, A=l sinf T AT

N 5 12 o 12 L B

A 1 B) - © 3 D)

5 )

39. IfCcosh=—,dl sin® T AH

N 5 12 o 12 L 13
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40. As per the diagram, which zone represents married nurse who should be sent for training ?

Nurses in
Hospital
2

1

417y 5\
6 3
Married Trained Nurses
Population
A) 2 (B) 4 < 3 (D) 7

40. v s (FINCH! ST AR ica Aifaeen Raifze «Af i afefrg s ¢

Biome wx<w
QlsRisRal
2
1
417\ 5\
6 3
: gowwzrﬁw I IERIER
(A) 2 (B) 4 < 3 (D) 7

P [ e g

40. 2w fog SPIE @F wifs AR ow 21T Ths [Kaifes apfmm afsffag s 2

AT RT
2
Y /4 7\ 5\
6 3
faifEe G e ot
(A) 2 (B) 4 © 3 (D) 7

Paper-IV/IA 25 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

40. GEMR T4, 99 WeT BRUE Al SHe T TRRE! fafrer ?
T RIS
FEHBR
2
L /e 7\ 5\
6 3
2 BIA FHE
o TEHBR
(A) 2 (B) 4 (C) 3 (D) 7
40. T T @ & SR, A 91 & foenfed =& =1 goiar & 99 wf¥reror & fer O s =nfew 2
AT
G
2
b/ 7\ 5\
6 3
- 4 gfsrfera =&
(A) 2 (B) 4 < 3 (D) 7
41. The value of J0.09 + /1.69 is:
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
41.  J0.09 + /1.69 I ¢
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
41.  J0.09 + /1.69 9T W ¢
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
41.  J0.09 + 1.69 T HM:
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
41.  J0.09 + 1,60 1 HM :
(A) 1.78 (B) 1.6 (C) 1.33 (D) 15
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42. Identify the sport related to (Major) Dhyan Chand.

(A) Football (B) Wrestling (C) Boxing (D) Hockey
42. (CT&R) GG G0 GITS (&S N Hale 33 |

(A) o (B) ER= © IRI= (D) T
42, (TISR) GBI 105 T5ifFs (41 fbfers e |

(A) o (B) ¥ () Fogm (D)
42. (TSR) SAFI<E 9 TAEsi Gl SHA ?

(A) Fead (B) WHAREHAMA (C) e (D) T'&
42, (¥SR) ©AMECE 9 Hafd Wd Sl 9849 |

(A) Heaid (B) (C) HFRaTSIT (D) @il
43. Identify the incorrect term in the series.

{5, 8, 13, 20, 31, 40, 53}

(A) 13 (B) 31 (C) 20 (D) 40
43. {5, 8,13, 20, 31, 40, 53} =R ST “WCH! IS 95 |

(A) 13 (B) 31 (C) 20 (D) 40
43. gme T wiva g A iz e |

{5, 8, 13, 20, 31, 40, 53}

(A) 13 (B) 31 (C) 20 (D) 40
43. THIRAE {5, 8, 13, 20, 31, 40, 53} AR AT~ foEE I=E’ |

(A) 13 (B) 31 (C) 20 (D) 40
43. @l {5, 8, 13, 20, 31, 40, 53} H A U A |

(A) 13 (B) 31 (C) 20 (D) 40
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44.

44.
44.
44.

44.

A sector of angle 30° is cut out from a circular disc of radius 6 cm. The area of the cut sector in cm?

units is :

(A) 3w (B) 4w (©) 5w (D) 6m

6 51 PTG GF J&1 21 30° (Flet AT Bt Fede FIh Tived 21| JedSBR cFawa Gk 5o
?9 8

(A) 3w (B) 4w (©) 5w (D) 6m

6 (1.5 PR 96 JEFIR BIFRS (AT 30° @I <36 &1 I 2 | (&0 (a1 Jeatl o Fifer (.62
G(F T ¢

(A) 3w (B) 4w (©) 5w (D) 6m

6 9.1, T'@ma T GRE S oRfE R 30° @ 1 AT A EEl 7 e S | B SR S
it 9.f4.2 rfeare S ¢

(A) 3w (B) 4w (©) 5w (D) 6m

6 9.1, o2 aTeht U TR femh ¥ 30° vl 1 Uk Boads wer o 81 we gu eugs & aawd
VM2 gPRA AT :
(A) 3w (B) 4w (©) 5w (D) 6m

45.

45.

45.

45.

45.

Which of the following countries is the farthest from Andaman and Nicobar Islands ?

(A) Myanmar (B) Indonesia (C) Vietnam (D) Malaysia

SIS SR FEERE QlA7gT 79 (e (ita &g F_Es ¢
(A) Sy (B) el ) fowabam (D)  SeTafez

TR @A I ST @ TTRE @119)g (A0 AHAE I 2
(A) ORISR (B) BCwitarl ©) fermeam (D) SR

9 BIEY 3 3 e 'R fgusrfwa SHfgAre ?
(A) HHAR (B) < Hf&=n (C) ™ (D) WA

frefafed § 9 HH-91 <9 siea iR R g1 99 8 998 W2
(A) AR (B) gSHf¥EN (C) faaam (D) weiferEn
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46.

46.

46.

46.

46.

Which State is the Dandiya Raas a popular folk dance of ?
(A) Rajasthan (B) Gujarat (€) Odisha (D) Maharashtra

WIS 7 (PN ST G S TSy ?
(A) FeZH (B) @TRIG (C) ==yl (D) R

TS A (I A G0 S () 2

(A) ez (B) TRD (C) efT=i (D) “2EIE
AT T 57l TSI G, A ?
(A) TSEAH (B) TSR@ () Sfem (D) e

gifean T T T =1 AT ik T § 2

(A) TSR (B) Tsud (C) enfewm (D) et

47.

47.

47.

47.

47.

A person moves from P to Q in a semi-circular path and then comes back to P by the shortest route,
which is 4 km. The total path covered by the person in the entire journey is :

(A) @r+2)km  (B) (u+4)km  (C) (m+2) km (D) (2w+2) km

G A P I A9 Q (51 Ta g A2l Sifods F(F o7 ©fF foiwe 4 .5, e g3ew #d@ 27/ P (51 9]
B2 | FS Sfos 1 %1209 9 O (20 8

(A) @r+2 &R B Er+y R (© @@F+2RR (D) @r+2) W

GFE fE G TGS #172 P (AF Q I G TTe277 Jeosl 212, (6l 4 .M., SR I P-(©
(FEA | #{E @R e 71 Sfo@=e I (N 212 27 ¢

(A) @r+2 &R B eEr+y R (© @E+2RR (D) eEr+2) W

T G WEeEHR &r| dFH P s Q fag aemeist i safrgs gias @, 4 f6.fq., < p fag
THiRAT | o T TR SHE e ?

(A) @r+2)f®fm B @Er+4 T (© @+2 &M (D) @r+2) &M

T Al AHGTRR 79 H PH Q Tk ST © 3R fF Tod B1e AFf ¥ P W 99« o7 &, 5 4 fh A 31 9@
7 H Afad gr a9 fohan T e TEA

(A) (@n+2) fw#H. B) QEr+4)fed. () @@+2)fE#A. (D) @w+2) .
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48.

48.

48.

48.

48.

Sagor Dekhisa, a collection of Assamese poems was written by :
(A) Devakanta Barua (B) Navakanta Barua
(C) Banikanta Kakati (D) Rajanikanta Bordoloi

AT (RIE TN SR FEO ARG (@I i e

(A)  RIIC A0 (B) TRIE 3=l
Q) IATHIE FiHfe (D) GBI IWCA

MAF R @ SO SR A, oTeices ¢

(A)  RITI (B) «FI® I

Q) AT Tl (D) TG IS IS

R *fEar gt s foasergt 9r formi= ?

(A) <SR Sl (B) T AT

(C) afehT= TR 'fa (D) TSR aRael

IR SfaQr ek STAfHA Shiadisti 1 TUe fohdeh g foran T on ?
(A) <EHIA THA (B) ahId T

(C) IIehid ShTehdt (D) TSTHIhId SREETS

GET IT ON
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49.

49.

49.

49.

49.

The longest diagonal that can be found in a regular cube of side 1 cm is :

(A) 2cm (B) 2 cm (€) 3cm (D)

1 (5.5, AT & 77 GO A #A9 FIow Fofq T ¢
(A) 2 @.f. (B) 2 ®.f (C) 3 ®H. (D)

1 CLI. 3= 7R @3l Fafirs T siqee 9 =@ ¢
(A) 2 @AW (B) 2 @R () 3 @l (D)

o8 1 9.f9. w7 71 s Trafas @ ' e
(A) 29 (B) 2 9. (C) 39 (D)

194, o ot Frafad =@ & aran S e 998w foent ©
(A) 29 (B) 2 9. (C) 39 (D)

3 am

J3 A
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50.

50.

50.

50.

50.

Which of the following is different from the rest ?
(A) Samaveda (B) Rigveda (©) Yajurveda (D) Ayurveda

S N ey

SRS (PN SR 7L ?

A) AR (B) A=W (©) Fgm (D) SRE"

—~

TR (A SR (AT LT 2

(A) ST (B) (C) e (D) i
TR S TR TR 95 2
(A) TR () fome (€ =R (D) ede
Freferfan # & % it & for 22
(A) R (B) (©) = (D) e

51.

51.

51.

51.

51.

Two bells A and B are rung such that the bell A rings at every 30 minutes and the bell B rings at
every 25 minutes. If both the bells start ringing simultaneously at 6 am, then the very next
simultaneous ring will be at the time :

(A) 8:00 am (B) 8:30 am (€ 9:00 am (D) 9:30 am

5! 9B A =% B A TBICH! @S 30 ffa5a 3= 03 =i B 9BIcH! &if 25 fifte 0@ @ Afe T 1 3f
YRG! 9512 6 am © eIl A1 e, (o0 965! ! «rereat AIfe Tt 0% A< TIht 29 ¢

(A) 8:00am (B) 8:30 am (€ 9:00 am (D) 9:30 am

9 951 A @32 B ISTSI G| 2 (@ 951 A @ifo 30 TS Alter @3k 261 B @fs 25 Wi e | 3 e
6 BT T 16! G2 AL AG(S WF F(H, OF S | YA ASK AT 24T 8

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

A 3R B =T TG SRaTafe S SR ST A 91 Yok 30 Tafera Ssmit o1 B =1 wask 25 faftera | i
el T=TE T B 6 RSTare s, STeal o 5= 791 ARG HIsedl S SIS ?

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

T wfeaT A IR B 39 YR S Sl € foh 51t A T 30 fie W oot § @R ¥ B o 25 e W
It § 1 Afe ST sfeal Gog 6 991 Tk WY S IE &1 S, 1 STTel b 91 SISt T g9F 6

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am
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52.

52.

52.

52.

52.

A + B means A is to the North of B; A%B means A is to the East of B; A — B means A is to the West
of B; then in (Neptune % Saturn + Uranus — Jupiter) Uranus is in which direction with respect to
Neptune ?

(A) South - West (B) North - East (C) North - West (D) South - East

I A+BI 9L A (B BT Ted fwere wiitg; A%B I =1L A, B3I 9[3© WIitg; A—BI 9L A, B F sIf*63 Wi,
(T (25 % = + THEAE — IZTI6) © Folpe ATATE TTEAZ GFE! S S=ge TR 2

(A)  WEFe-o{f*px (B) Tess1 (C) Tea-sifepn (D) W=7

T A+B I A T B @3 T&E; A%B T A 261 B @7 9 F W A—B S A 26 B @3 2If¥60; ©izge
(G % = + TEEAP —JTIf®) (O THET @ 2R ACATE (T P SR(ZO 2

(A) TfEFe-sAfREw (B) T&-oK (C) Te-oifew (D) wfEwe-siF

e A+ BT aiforen - A =1 B 1 wmw@Ife; A%B a1 - A3 B st A—BA1 - A B AF@f, steen
(TG % IUT + I — TSI 3T TSI AGGA Sl ?

(A) Gie-dEefd (B) |- WS (C) HI-gHmEfy (D) Grell - |As

A A+BHRAATTH A BFSRAR, AYBHF A SfF A BF T AT A—BH A4 B fF A, B afdem
HE @ (0= % 9 + 99 — F89afd) § J9=1 & day # Gy fong fam § 772

(A) cfqo-ufeem (B) SW-d (C) IW-ufeem (D) =faor-gd

53.

53.

53.

53.

Who played the title role in the 1969 version of Dr. Bezbaruah ?
(A) Nipon Goswami (B) Biju Phukan
(C) Dwipen Baruah (D) Brojen Baruah

T ([E9A1 (QIETHRE 1969 FKFITS (FIC I BFS Sife Fifee 2
(A) s catrn (B) Ry
(C) @loM <=l (D) TCew =l

T° (IEER 1969 FLHAC (F UL B! 2o SR 2
(A) T catrmn (B) Ty T
(C) alom =F (D) S IR

1969 WM €. Ssteredl HH WagHAE e fawafeat §R e ?
(A) o TeerH! (B) ToIg Ferd
(C) fgua & (D) SIS s%a
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53. <. ISE%3T % 1969 G&RU1 H e yftrer feraq fue 2
CSIREERRIES G (B) fag Gehe
(C) 5t e (D) oS ST
54. Which word would substitute the marked portion - “The Zebra stripes on roads are for crossing by
people who are walking ” ?
(A) Pedestrian (B) Pediatrician
(C) Pollination (D) Postulation
55. Which of the following is a State of the United States of America ?
(A) Hawai (B) Fiji
(C) Papua New Guinea (D) Solomon Island
55. [Efee (@M S Jewg 2 qrey 2
(A) =T@R (B) f&f&
(C) =1 e (D) BT F#i5ig
55. WICod (I M IS0 96 ey 2
(A) ReAR (B) ffe
(C) =l [T el (D)  CIIIH Fiois)g
55. TR el SAHR ST BISUH HITH TS 2
(A) =R (B) ffs
(C) urgen = firfq (D) ¥F'a'"T fRIwR
55. frefafead § 4 FF-91 S99 T5F ST &1 TF TF 2
(A) @ (B) T
(©)  mmgem = Frt (D) Wi 5
56. Fill in the blank.
January was the month last year.
(A) Cold (B) Colder (C) Coldest (D) Cool
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57.

57.
57.
57.

57.

Which two countries does the Gobi Desert touch ?

(A) Sudan and Egypt (B) Saudi Arabia and Iraq
(C) Turkmenistan and Uzbekistan (D) China and Mongolia
(I 749 (71T (oM TR e o e 2

(A) oM == 2oy (B) (R oI W< Z1
Q) TICTBA e THRRFBH (D) bR = wgesiifer
(aNifR e (i gfS (it o s 2

(A) H =R 2 (B) (T oI €% TIF
Q) TIEEN @R TSRARFBI (D) b @3k Seifer

'Sl ST FERT 9 TR WA S

(A) YeH R fee (B) ¥RfS TRE N U
(C) TehufTE AR ISTelfhEd (D) = &R Harfer

et FeEeret foha <1 e <l Ba1 § ?

(A) YoM IR = (B) Wdl WA R TH
(C) THufEm iR Iafrea™ (D) =9 SR Haiferan

58.

58.

58.

58.

58.

The population of a town increases at the rate of 10% every year. If the present population of the
town is 10,000, then after 3 years the population of the town would be :

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

(I G2 9199 eIkt 2l T=CT 10% I 2T Jfan A7 | T2 ToI S 10,000 T 3 IR STF©
TR J SR T 2
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

@3 *2rEa TR @S =7 10% 2@ I S| =77 I8T TeRa T 10,000 T, ©=CH 3 IF A7
=27 SRl 2(F ¢
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

Y AR e IHeEiet SERi 10% 3R aRER | S[fe STt g5 |e@Eist 10,000 3T SER 3 4
e Sl S ?
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

T I i SHEE & T 10% T R T gt 81 afg I 1 FadqE SHEEAT 10,000 B, 6 3 99 o1
@ B
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000
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59.

59.
59.
59.

59.

Which sport did P.T. Usha play ?
(A) Athletics (B) Badminton (C) Table Tennis (D) Cricket

1.5, THE (@AY (deTe weniazs e 2
(A)  92AETHRE (B) @SRIGH (C) (53 (B (D) f&=b

191.15. T (&l (R (LFCS 2
(A)  SHIRCETH (B) WIGhITe (C) GRe (G (D) feco

fo.fa. 3umn = erEEE ?
(A) Teife (B) wefimd (C) dfs aftg IREET

.31, 3 A -1 T Gl ?
(A) Toaifesm (B) WefHed (C) < | (D) Tohee

60.

Which word would you replace for the underlined word to reverse the meaning of the
sentence ?

“Food in this hotel is worse than that provided at our hostel.”

(A) good (B) Dbetter (C) Dest (D) excellent

61.

61.

61.

61.

61.

The addition of two binary numbers 11 and 10, when represented in binary system is :

(A) 101 (B) 110 (C) 010 (D) 111

@S 2alleTd 75! RAT 11 1< 10 T (NIFe] GO 2elietto e FReT e FRANE ¢
(A) 101 (B) 110 (C) 010 (D) 111

S fafiis A 11 €3 10 93 @iaiwe fafi 2f@fore oM 90 203 ¢
(A) 101 (B) 110 (C) 010 (D) 111

T SAFTHHAR AT 11 20 10 7 Sremermagt A= sHAfSHEe wREr |
(A) 101 (B) 110 ©) 010 (D) 111

31 fgenam demedi 11 2R 10 &1 2w, 5o fgemem yonelt # <9 S 8, o 21 © ¢
(A) 101 (B) 110 (C) 010 (D) 111
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62.

62.

62.

62.

62.

Which of the following is best depicted by the diagram ?

(00

(A) Cat, Fat, Rat (B) Food, Clothes, Friends
(C) Assam, India, Asia (D) Geometry, Botany, Economics

e oazg F=fie @GR AdereE bifas sRka ¢

(00

(A) GRS, e, 4 (B) W, %, I,
(C) P, e, Gfel (D) oiffs, Sfewfawm, wiefirg

27e A Mo (FRE SIETSIE I F 2

(00

(A) T, Gl 2w (B) AW, I, 79,

(C) =P, O, @f¥iEl (D) oifsfs, Tfenim, wieHifs
o TreriE AT grefae feferd 2

(A) &N, HREIHI, TSI (B) TSI, THME, ANIRR

(C) 3THM, 9, TfEan (D) qAY, o oM, Tt

fea T3 e fr=fafea § 9 = geiar &2

(A) faeeh, g, @ (B) @I, U, Q]

Paper-IVIA 36


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

63. On which island hillock is the Umananda Temple situated ?

(A) Bhasmachal (B) Sandhyachal (C) Nilachal (D) Chitrachal
63. (LT Tra19 GoT® T A7 SRFe 2

(A) SIbA (B) =it (C) TIeTHeT (D) foaws
63. (P B eI T Wil SRfFe 2

(A) SIbA (B) =it (C) TIeTHeT (D) foaws
63. SHM< A<l feu ersil-feremrmE € 2

(A)  wHHTA (B) EHETEW (C) fram=a (D) femrEw
63. UM A forg vt ghu W foa 82

(A) &= (B) HeATHdA (C) e ) IREEES!
64. Identify the proper noun in the following list.

(A) High mountain (B) Black car (C) Deep sea (D) Pacific Ocean
65. Which of the following is a part of Mahabharata ?

(A) Upanishads (B) Puranas (C) Vedas (D) Gita
65. RS (S IO @Ol BeH| ?

(A) TefEw (B) ~= C) @™ (D) Tl
65. IR (D TSRS O 2

(A) TefEw (B) =7 C) @™ (D) el
65. TIETA el HETWRA @il ?

(A) SufoE (B) M (C) (D) fima
65. Trafafed 4 9§ SH-91 Her9Rd i feed & ?

(A) Ui (B) (C) T (D) TitaT

Paper-IV/IA 37

P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

66.

66.
66.
66.

66.

The primary raw material used by the Assam Bio Refinery Private Limited is :
(A) Bamboo (B) Water Hyacinth

(C) Sugarcane waste (D) Banana plants

TN (S CNEIaNR 2i3res ffoee Jkmme AidfiE @oie 25 ¢

(A) 3z (B) A (B (C) FWRTORE (D) Fe9%
SPTY (eR (<IN 2i2res 1T e ikl IRz 2llfss S 2 ¢

(A) (B) oMl (C) SCeF TS (D) <1l aiig
W 9’ R 9. fafiega sersmn fe e Jam -

(A)  &iEn (B) Gfeam (C) TR GA (D)  enfer for
3 = R wigae fafhes g swam foren M aren wierfhes e 71 © ¢

(A) =™ (B) Stersht (C) T T e (D) el & WY

67.

67.

67.

67.

67.

The least natural number which when divided by 2 gives remainder 1, when divided by 3 gives
remainder 2 and when divided by 4 gives remainder 3, is :

(A) 23 (B) 17 (© 31 (D) 11

2 (3299 IR0 1 I AR 211, 3 (3 2960 FRCET Sl 2 2[17 w191 SN 4 (3 2990 TR0 I 3 2017 211
FRYIICIITE JeToN FOIRE FKAICHT (202 ¢
(A) 23 (B) 17 (C) 31 D) 11

TR Freiie AL CE 2 F ol F40e] SRS 1 AN, 3 B Ol e SRS 2 AT <2 4 7l ol
FACH SRS 3 AF @A 2 8
(A) 23 (B) 17 Q) 31 (D) 11

gefaa Tafem s Seret 2 S Tee 1 TAEeT o, 3 Sl Teetl 2 TAER 9l 3TR 4 S et 3
TGRS IR, o AT STe
(A) 23 (B) 17 ) 31 (D) 11

g A WIhfaeh He f8 2 § famfea s W Sowa 1, 3 9 faafea & | 9vwha 2 3R 4 9 fawfsa
F R ITRA 3 A BT S, TR

(A) 23 (B) 17 (C) 31 (D) 11

68.

68.

Which of the following is an Assamese jewellery item worn in the ears ?

(A) Golpata (B) Horinsokua (C) Jonbiri (D) Thuriya
SRS (P! = ST el @ SPrTR sl 2
(A) o=l (B) ZmmZ (O (oM (D)
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68.
68.

68.

A (PG G SHATRN SEALF A B A1 27 8

(A) frerel (B) ZHemE ©) o (D) g
TETE o6l STEfHET TR W M 2

(A) TTeTH'd (B) BrCTEgHN (©) R (D) gfen
frefafead § | SF-91 M H T S AT STHEET STw ¢ ?

(A) TreTae (B) BREFST (C) e (D) gfen

69.

69.

69.

69.

69.

A political and legal process by which a legislative body or other legally constituted tribunal initiates
charges against a public official for misconduct is termed as :

(A) Impeachment (B) Re-election
(C) Enforcement (D) Enactment

(I RN 778! S SRSl 515 O (I TR @i e [Taae seie oineR [
AE! (TR ST S SN2 A G @it =

(A)  SIfScaem (B) sfe<iSw

(C) IR (D) 2oz

G35 AT @ Szl e a1 aal T SNiET] AL A Tl SAFHNCSII 51T WifEeet SPmnaeR
o) GG TN FAFOI 07 B9 AT 9 T I A0 ¢

(A) Sife*iem (B) swsfTow
(C) TRFe (D) SN
Tt TR SR feranf-or St 9 SR foam i s /e STEeE ' g T SHl ST
TR S SR@’ o1 S 3G AT A=l 11 g1 ?
(A) TS 3] (B) w=@' fHa

(C) SR Q™™ (D) AR el

T s 3R A Tishan fraeh 511 U faemd fiem a1 o= & €9 9 Tfea =amanfeeso fordt
greisien i & fge® Heer & fau 3TY I F3dl 8, 98 el §

(A)  wRIEm (B) g™
(C) gerH (D) stfufraad
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70.
70.
70.
70.

70.

The three angles of a triangle are in the ratio of 1: 3 : 5. The largest angle of the triangle is :

(A) 70° (B) 90° Q) 120° (D) 100°
<5t fagem fSfbH e 7 1 : 3 : 5 SRjolioe =R fTgehia JTe (e T 2

(A) 70° (B) 90° Q) 120° (D) 100°
@35 fGgred o @R Sreio 1:3: 51 fageitd Jzes &b & ¢

(A) 70° (B) 90° Q) 120° (D) 100°
TG TEf-rmaf @ AR TSUE 1:3: 5 | X9 @9

(A) 70° (B) 90° Q) 120° (D) 100°
Teh ST & I 01 1:3: 5% A9 | 810 &1 S 1 g SIg1 07 |

(A) 70° (B) 90° (C) 120° (D) 100°

71.

71.

71.

71.

71.

Toyota has its headquarters in :

72.

72.

72.

72.

72.

(A) China (B) South Korea (C) Singapore (D) Japan

e AT 2 PIT SR_Z 2

(A) bW (B) Wi (If (C) PanisE (D) @i

(BICBIR TR ned TCACR ¢

(A) b (B) Wi (IRl (C) Prmrvm (D) @i

EAR IR R ERICIERC T

(A) = (B) el ikl (C) TR (D) ST9H

ZriTeT 1 AT el feerd ¥

(A) == (B) Sferor whifea (C) e (D) MM

If P, represents the product of the natural numbers from 1 to n, then P;+P,+P;+P, is:
(A) 23 (B) 33 (C) 37 (D) 31

I 19 2[00 n &1 FOIRE AT TS A P, (& BT F(F, (9CF P +P,+ Py +P, T e 2
(A) 23 (B) 33 (C) 37 (D) 31

MW 1 (AT n 7T Feifs ARl wiwe P gl bfew w91 & O Py +P,+P,+P, 7 ¢
(A) 23 (B) 33 (C) 37 (D) 31

Sife P, S fAfem sw=fsmn 1 fsm n famt Sestsrmé! e, stee Py + P, + Py + P, 1 /-
(A) 23 (B) 33 (C) 37 (D) 31

IfE P, , 19 n T I Wpfaeh @A 1 [UFHA HI A 8, A P, + P, + P, + P, i TAF & :
(A) 23 (B) 33 (C) 37 (D) 31
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73.  Which country controls the Suez Canal ?

(A) Turkey (B) Israel (C) Egypt (D) France
73. (LT (0 GRS A EEel I 2

(A) T (B) T@aiEs (©) zfag (D) =
73. (W O S A T I 2

(A) o (B) ZERICH (C) fmm (D) T
73. U T<E 99 SIS AHEAR ?

(A) TH (B) ESIEA (€ fam (D) rd
73. TS T W HA-H1 ¥ FRA Hwar e ?

(A) TH (B)  ESTURS (€ fr= (D) w4
74. Which of the following does saliva in our mouth help to breakdown ?

(A) Starch (B) Protein (C) Vitamins (D) Fat
74. SIS JL© 4 LR WHRERS (SR oo 727 TS 2

(A) oA (B) AR (C) i (D) &
74. NGRSO ZEC SR JCA A AL IR 2

(A) AR (B) celifod (C) e (D) &
74. GA S GTHETa A& fawREmEE S 2 2

(A) s (B) ufed (C) Ty (D) #sH
74. TR Y H oR ffafea § 9 foges fasea § ueg &t 82

(A) w=H (B) WM (©) faafm (D) =
75. Which Continents does the Mediterranean Sea lie between ?

(A) Asia and Europe (B) Europe and Africa

(C) North America and Africa (D) South America and Africa
75. (I G TR0 WErS Gl SRES 2

(A) @Rl =i TTEIA (B) 2T W SR

(C) TS NI SIS S (D) Wi SCI<Pl S<e iifzram]
75. ORI (I 95 TR T SR(ZS 2

(A) @l @3 TR (B) TTEIA @R ST

(C) T& IR =R S (D) wi=Fe SRR @R SRl
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75.

75.

THISTALISTR AL T8 A BT TR ?

(A) THF AR 330 (B) T3 W Akt

(C) HI-3THRER 3T AR (D) Erel-3THRERT 3R SRR
I WIR o Tergial & st feod €2

(A) TRE SR (B) I 3R ST

(C) 3T SR SR STRIHT (D) <feror arafit iR TR

76.

76.

76.

76.

76.

If SATURN is coded as TZUTSM, then how will URANUS be coded by same plan ?
(A) TSZOTT (B) VQBMVR (©) VQBOUS (D) VSBOVT

M SATURN & TZUTSM f2b1t3 F'C 951 &, (9% A7# 7a(s URANUS T (M 6 <1 2] 2
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

3 SATURN (F TZUTSM TR FFRge 1 &, IR @32 WAl URANUS (3 FOIRE A0S
LSRG

(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT
Jf¢ SATURN 1 #g@ TZUTSM WelHl, 3Tsatl URANUS 1 @ arsl Wi 2
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

I SATURN &I TZUTSM & &9 H whifed fohal T &, df 36 9151 & 3TIER URANUS &1 ¥ hifed
[EXRISII
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

77.

Which of the following is a collective noun for ships ?
(A) pack (B) herd (€) swarm (D) fleet

78.

78.

78.

A tank can be filled by 6 pipes in 80 minutes. How long will it take to fill the tank by 8 pipes ?
(A) 45 min (B) 60 min (C) 48 min (D) 70 min

@5t (B 6 T #1127 TR 80 e o T Mif7 | (GBI 8 Tie 11277 AR ool Ffcet fFww
RS TG TS 2

(A) 45 G (B) 60 WG (C) 48 WG (D) 70 WG

O #i1g 6 b &1 71 ©A6 Face 80 NG 7w =Aieat | 8 T &1 =i #11af At Face F© AN AIE 2
(A) 45 WG (B) 60 WG (C) 48 WG (D) 70 WG
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78.

78.

g HAEE! T 6 Aifersii et 80 fafte a1 71 8 ifersii 9% Tiere AW ?
(A) 45 faf1e (B) 60 faf1e (C) 48 fafte (D) 70 fafte

Teh 3ohl ol 6 TSI g1 80 THFE T W1 <1 Tehal €1 8 UISHl g Soh! ohl WA | foha=n 9w ovm ?
(A) 45 fae (B) 60 e (C) 48 fue (D) 70 e

79.

79.

79.

79.

79.

Grandmother was cooking at a picnic, attended by her son and daughter-in-law, with their four
sons and their wives and one son and two daughters to each of the sons. How many ladies were
there at the picnic ?

(A) 8 (B) 12 (C) 14 (D) 10

QIFIF TTSIZ ICOIES N ST | SIS HifseT S TSR 2@ ST @<y, et f7e 2+
TS (SEEIRT BIfReR 7@ O 5IfRsa] 2fSTmE Iomiis 5q SR Tomite SIS ICSISIoS Jo0S
SfzeTT g2yl e et 2

(A) 8 (B) 12 (C) 14 (D) 10

G IACSICET T A FAMRCE | ©IF 9]q GR ]G SIHE BIF (20 8 S G Fed ToifFe fagem @z
TSP (T G0 FC (0 @38 9f0 6 (IR 287 | I0eice doe qfzel o 2
(A) 8 (B) 12 Q) 14 (D) 10

3Te G ST A@R 3 sterEre faeit framen ) foemsis drmd fodif o o fraemsr o m
forgrt fafemr 3R Sl TraTeTRR freTe 9 ST freTsi 9 thel | o SeraR S ST 91
oY fe~TahR €0 ?

(A) 8 (B) 12 (C) 14 (D) 10

Tt T Tuehfen o @ o W o, ST SRt siet 8iR oy, ST 9R S 3R Skt uferat 3R ST T
o2 o1 T o2 AR 9 sl witrer off | fesfen # ferat wfgemd off ?
(A) 8 (B) 12 C) 14 (D) 10

80.

“The invigilator could not detect that the two boys were exchanging notes under his nose.” What
is the meaning of the marked portion ?

(A) With due permission (B) Right in front
(C) With active help (D) In small pieces of paper

81.

81.

For which sport was T. Ao the captain of Indian team ?
(A) Badminton (B) Hockey (C) Football (D) Volleyball

& oe @Ry (W7 SRS VoTq SR oiifes 2
(A) @G (B) = (C) T5= (D) SoTR&
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81.
81.

81.

5. SN (@ (LA SRS Ve GTS et 2

(A) GG (B) == (C) T5= (D) Sfere
fe. STreEn 519 AeEAEAEE YA B ST 1 ?
(A) wsfi=ed (B) Tl (C) Heaa (D) w'faed

fe o1s forw Wt & fouw R 39 & Fae 9?2
(A) Sefied (B) @kl (C) Teaid (D) afcftara

82.

82.

82.

82.

82.

72 toffees were distributed to some boys in a group. Each boy in the group got twice as many of
the toffees as the number of boys. The number of boys in the group is :

(A) 6 (B) 7 © 8 (D) 9

G5! oTS A (FEGH o7 MG 72 FRAF 5 o9 391 a1 | Worq 2fos o791 ©lers 2] 5Fg 1kt
VTS 2] I T AT FROF AN | WEACOIS A1 &1 YJ A (202 2
(A) 6 ® 7 € 8 (D) 9

72 5 5% «ave (=rand sy Resel 791 = | ook afo c=ra, weet A (e AR Bl BfE oi | wee
(AW TR T
(A) 6 (B) 7 < 8 D) 9

TAY 19 R grEre 72 9t T el | HIshEs TS g O e R sHfsEa YeE afte
A | S grTaTe 9Ty 197 R €61 2

(A) 6 B) 7 ©) 38 D) 9

T T H $ AHl I 72 RAT fodiia i 71 TUg § YT TSH bl ASh! hi G&A H ST ATRAT
foefi | Tg § Tl % gEn ¢

(A) 6 B) 7 <) 38 D) 9

83.

Identify the correctly spelt word.
(A) Conservation (B) Consarvation

(C) Conservetion (D) Conservasion

84.

84.

The Civil wars termed as the Wars of the Roses was fought for which throne ?
(A) British throne (B) French throne
(C) Russian throne (D) Spanish throne

(I TR AT CallET?iS I&@ (Wars of the Roses) wIE 2% il 0O (2f%e 2
(A) 3= Brzem (B) zaibl PicarE
(©) diferE Fizp (D) iR P
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84.
84.

84.

(SNAICo I& (Wars of the Roses) TG ARD® Jymafe (@iN PrgPieg &) A<Hibe @i 2

(A) & Ficaew (B) =ART PIREmw

(C) TR Pieae (D)  cife Braee

TSHR STE@T (Wars of the Roses) 1 TE&R SRl o¢ TSIHEAN A& STATHM ?
(A) o TR (B) T Tifier

(C) ity TsifHereA (D) EfT SifHeEA

A % G (Wars of the Roses) &g ST aTc1 Teg§ e FHeEA o fag @< T 9?7
(A) Tofewn fogmm (B) T fogmed

(C) T fefer (D) whfrer fegrem

85.

85.

85.

85.

Which of the following statements is correct ?
(A) Sikkim shares border with Assam.

(B) Sikkim lies towards the west of Assam.
©)

(D)

Assam shares borders with Sikkim and Meghalaya.
Bangladesh and Sikkim touch the borders of Assam.

fxfe (@0 Sfe ug 2

(A) ol 3T SPTR TS o 3 |

B) ol opeE sif*ow e erifzs |

ST SIS o S TRtz STt o 3 |
AT =N BRFCT SR 3T o 353 |

B) SPIGR SARGumE e SRfge |

C) TR @R (TSI A SR SIS IR |
D) A @3 Hifes ST e g |
TR a9 faefer e ?

(A) Tafora sTamsT 5w T |

(B) Tafgermn stamfT SHTeRT drer! |

(C) e fafaens R Henerrst fHHTRR Teeral |
(

)
D) Wiy IR fafaerar st fammRRE e |
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85. frfafad sl & & & W& €2

(A) faferm =t Him e/em § ot 7

(B) fafern sy % ufvem ¥ feor 71

(C) o9 &t W fafern IR Femer™ 9§ @ 7

(D) =Ry iR fafsrn & HH 38| F T §)
86. Which country did the martial art Taekwondo originate in ?

(A) Thailand (B) China (C) Korea (D) Vietnam
86. DIRCPIAICS! AN AT FAICGI TATE (iR (o C2fee 2

(A) BTG (B) S Q) ifa (D) fowBaw
86. I SRR TATE (Pl (Wee] 2

(A) 2lZEe (B) ©M ) ifal (D) foea™
86. TEEMEIR STRY AL o7 o6l FIRUE SIFTRRIGIHM ?

(A)  9Eee (B) = (C) wfn (D) ™
86. <FFEIS! ATHh FHERAT hi Scdfd fohd <o 1 g8 ?

(A) =mcfs (B) M (©) =i (D) ToRrd
87. Which of the following is incorrectly matched ?

(A) Class Ilever : Pliers (B) Class II lever : Nail cutter

(C) Class III lever : Nutcracker (D) Class II lever : Bottle opener
87. FEfeie @G weweltd @l el ez 2

(A) e (¥TF Borom ¢ A% (B) fasR (x¥ forei ¢ 94 S5 Tor

(C) TOR (¥ feTeId ¢ M S6l T (D) TSR T TS ¢ I6e[ AT (Al Tor
87. oA (S Srwmelca stz ¢

(A)  @w (@7 forem ¢ foufs (girpd) (B) TSy (i forom ¢ 14 FHR T

(C) TR (IR feToR ¢ wife (A6 @FE) (D) f=or (@TR foreE ¢ @ree (e I8
87. TREMN &1 9N SN Srard ?

(A) gmE 1 fifa : e (B) =@ I fifa : ST e Sy

(C) gl I fifE : fagem e s"R Hrame (D) er@l 11 f3fa : o wa
87. frefafed ¥ & ®F-91 Teta gafed © 2

(A) FH I R : e (B) &I II @leR : 7& hed

(C) = III fer : TEsharl (D) AT II e : slidel STaR
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88. Ason 15tof January, 2024, who is the President of Ukraine ?
(A) Joe Biden (B) Vladimir Putin (C) Valerii Zaluzhn (D) Volodymyr Zelenskyy
88. 17 SFRISI, 2024 ANATF 28(Fea< Aol @I 2
(A) & AR B) sfefmsta  (C) (@R @rpgem (D) CHTEhR (EER%
88. 13 QAL 2024 AATH (R AGATS (F ool 2
(A) (el FBTe (B) ®iR ofeqr  (C) R GeRA (D) SreiviE (e
88. 2024 TEAEM 1 SR Wfafadre ForafT gRRATRET GE ?
(A) S d&H (B) wfefR gfd (C) weifR Siegsw (D) w'a'feffR S Teht
88. 1S, 2024 I Yok o UL A & ?
(A) S foreq (B) fGHR gfd  (C) <eit S (D) SIAIfSfHR Sieient
89. The Padmanabhaswami Temple is in which city ?
(A) Bengaluru (B) Chennai (C©) Madurai (D) Thiruvananthapuram
89. (FIN TS 2MSH| NWq SRFS 2
(A) RIS (B) BAI (©) R (D) fasmeeTw
89. MAISHI A (il 120 ORIFS 2
(A) DI (B) AR (©) R (D) TOFITE4
89. TRMIHIEATH! Af<Y o FMNE € ?
(A) e (B) =T (©) wgwE (D) ferearT=rgeA
89. TR HicY fFd IR H B2
(A) ST (B) =T © (D) ot
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90.

90.
90.
90.

90.

Who has won the highest number of gold medals in the Olympic Games ?
(A) Mark Spitz (B) Michael Phelps (C) Jesse Owens (D) Paavo Nurmi

(I DA (TS AT FRAF G AV 7S FRCZ 2
(A) TF e (B) Wz (C) (o1 SER (D) #icet i

GF ol dfetaiferss & AR AT FomS e IR ?
(A) F Foig (B) W& (@A (C) (GO ST (D) =fitet

Affae AEEEAEE el Jafal Jifgs 9911 ied € 2

(A) e forest (B) WEhA heqd  (C) SIY AR (D) Ty’ g
Aeifger el ° Tdifaes ol e fore Sid § 2

(A) Tk foest (B) WIEhHd oW  (C) ST e (D) Tl e

91.

91.

91.

91.

91.

To which emperor was Chanakya the royal advisor ?
(A) Samudragupta (B) Ashoka
(C) Chandragupta Maurya (D) Skandagupta

Bl (I SR AHI6T IS 1 SAWR BT 2
(A) TEed (B) SICHIIS Q) v™eY G (D) FwwY

Bl (IR THICHA AT SATR! foge 2
(A) TRy (B) SIC*IF (C) vmey G (D) FWed

SIS o0 GHTE TSR ST ST 2

(A) HHETW (B) Tk (C) == HE (D) =TS

=T e TUTe o Ml aATehR 9 ?
(A) T (B) el (C) e wr (D) e
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92.

92.
92.
92.

92.

Which of the following countries does the Mediterrean Sea not touch ?

(A) Spain (B) Portugal (C) Lebanon (D) France

RIS (PR (i GRIaiCe R 7 2

(A) i (B) “gaNa (C) (AR (D) ™
TIHa @ G GpAeR = Fa 2
(A) =iz (B)  (olgale Q) T (D) T
TSR SresTIR eliet 9 BIed eATST ?
(A) wF (B) YTl (C) <arA (D) W

yrerarR fafafed § 9 fha <o o 98 g § 2
(A) @ (B) A (©) e (D) Wi

93.

93.

93.

Consider the five numbers given here :
i 736 (i) 269 (iif) 958 (iv) 219 (v) 793

Arrange the digits of each number in descending order. What would be the difference between
the highest number and the lowest one ?

(A) 222 (B) 716 (C) 618 (D) 12
e 60 AU 0% ¢
G 736 i) 269 (iii) 958 (iv) 219 (v) 793

ATSCH! AT SRF (F2B] TGO SR 212 TS B F T FRANFEHR NS 2NLFT i F 23 2
(A) 222 (B) 716 (C) 618 (D) 12

QI ere SAT6To AL e 2

G 736 i) 269 (i) 958 (iv) 219 (v) 793

AT AR ST TG AGH | I R @R I TR & 21y Fl 23 2

(A) 222 (B) 716 (C) 618 (D) 12
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93.

93.

B A STHSTHRRE! 7SI 8l
@ 736 (i) 269 (iii) 958 (iv) 219 v) 793

Ahme sl foaHeRE! g wiae aeE | T o Efen smfsmf ore wrefeEn
9?2

(A) 222 (B) 716 (C) 618 (D) 12
fe31 7w e Hemsh W famm i
G) 736 (i) 269 (i) 958 (iv) 219 (v) 793

T AT & 3hi bl 2d hA B AAEd i | oY o< 3R Tod B T 941 A B ?

(A) 222 (B) 716 (C) 618 (D) 12

94.

94.

94.

94.

94.

Near which place, a statue of Jongal Balahu has been erected ?

(A) Raha (B) Dibrugarh (C) Dhuburi (D) Karimganj

(ETieIeT FoTe A& (I ZR T Io1e ol 1 (202 ?
A) T (B) fEziw Q) == (D) FRw9lg

(STGIeT ToT2 IS (I BT 6 Zioie 41 ZCACR 2

A) @ (B) fezore (C) 4Iel (D) <felg
ST 9 ‘g TIEraE! 981 HEAE Sie) 2
A) & (B) fegrs (C) Yok (D) i

el SeTg ot i fohe T o fehe Tenfid =it T8 82
(A) @ (B) fTegme (OENCEN (D) LS

Paper-IVIA 50


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

95.

95.

95.

95.

95.

Who of the following is NOT a Lawn Tennis player ?
(A) Leander Paes (B) Vijay Amritraj
(C) Mahesh Bhupathi (D) Pullela Gopichand

ffers (@M o1 Gz (4e0a w2 2

(A) Fer cow (B) e Sreier

(C) Wl woifo (D) e CaNsTio™
TN (PG &3 (B CATARTG =1 2

(A) TTReR (7 (B) R orywaie:

(C) w2l gHif® (D) =t callfoim
TMETETe B e Tie 9 o df 9 el 98T ?

(A) =R 99 (B) fasm sTga

(©) wew ya'fa (D) et e

frfafea § @ oF ot e faere & €2

(A) ferde T (B) forsmr smpaust

(C) e et (D) e Tiree

GET IT ON
Google Play

96.

96.

96.

96.

96.

Which of the following is a stringed musical instrument of Assam ?

(A) Dogor (B) Xutuli (€) Kaaliya

e N ey

RS (P! (202 SPHR ¢ OIe AT ?

(A) W (B) g (©) wifer
TN (T SPICR G 6 SRS MG ?
(A) © (B) L (©) wifer
T Se T ST T AR S ?
(A) T (B) wdfd (C) hife=n

frfafed § @ oF 91 3199 &1 T aRIe Tiid oI § 2
(A) TR (B) &l (C) hifern

(D)

Tokari

(BIRISt
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97.

97.
97.
97.

97.

A six-faced die is made in such a way that the sum of the dots on the opposite faces are always
equal. Which of the following pairs is not opposite facing pair of the die ?

(A) 1,4 (B) 2,5 © 1,6 (D) 3,4

@ i sl & fbw KTz aewics Siite Tits @S [Reidts 21757 R o isreet smiz s | fsfafis
(I R TR wlai [ieidre fifde T2

(A) 1,4 (B) 2,5 © 1,6 (D) 3,4

G0 AT AN GSSIE (OS] I T A0S [T JASTAR [TYF (@I91e1 T A 2 | T (&l
(ST G2 AT 777 RS (eel 77 2

(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4

T Orgi i SrRgE! 3ienfe aHEel Sed fafq Seen Araierf| farmr Sreermia Sisarsl 99E | MeEH
o SIEET o SR 3T S ARGl AT ?

(A) 1,4 (B) 2,5 € 1,6 (D) 3,4

T D GE! I8 30 YR A1 ST ¢ o faoia Therenl W foigadi o1 anm i sReR a1 ¢ | fFe=fated §
Y HHA-H1 Srel 36 T w1 feradia Siren =&t &2

(A) 1,4 (B) 2,5 Q) 1,6 (D) 3,4

98.

Identify the correct definition of verb.
(A) Naming words (B) Things description words
(C) Action words (D) Joining words

99.

99.

99.

Which of the following is an example of Indirect Tax of India ?
(A) Gift Tax (B) Income Tax
(C) Goods and Services Tax (D) Capital Gains Tax

S N ey

RS (D0 OO AR I G O0igFe 2

(A) ToRRIF (B) SRS
Q) AN SR Rl 1 (D) FI TSR 9

TN (P SRS AT FEI S 2
(A) TR (B) T
(C) e Gl (D) &1 31 9
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GET IT ON
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99. TREM ser YRAf @t @S ffefer ?

(A) <H @S (B) 3™ @ISl

(C) o SN [EHA SSi (D) Tt HeArehl GISHl
99. frafafed # & $H-W IRA F ST FT H1 3T 8 ?

(A) SRR AT (B) T

(C) o T Fa (D) YSiTa @1w
100. Mark the correct word as synonym of “affluent”.

(A) Meeting (B) Discussion (C) Wealthy (D) Poverty
101. Who wrote Pride and Prejudice ?

(A) Jane Austen (B) Barbara Cartland (C) Agatha Christie (D) Virginia Woolfe
101. 2% 99 [Agogda (@ TR 2

(A) oW Sfew (B) [ FbeEre  (C) sl FR (D) eI T
101. (5 23T 9 [2gwI2s oare 2

(A) T SFH (B) JIFAR Foenle (C) s FHG (D) wifel Tere
101. 9735 T0€ Fyfeq @ OR fomms ?

(A) SH 3TEHA (B) WNEWI &eive  (C) 3rmen ffe (D) YRS 3¢k
101. F7E€ Te Fyfeq foher foran ?

(A) SH A (B) WRENI &Ieie  (C) Fmen fohet (D) SIS Ieh
102. If sinb=cos0 then the value of 1+ tan® is :

(A) 1 (B) 2 Q) 0 (D) 2
102. 3 sind =cos0, (OCF 1+ tand I A &

(4) 1 (B) 2 © o (D) V2
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102. I sinb=cosd T O 1 + tand € 3 ¢

(A) 1 (B) 2 © 0 (D) V2
102. Sf<S sinf = cosh A 1+ tand 1AM :

(A) 1 (B) 2 © 0 (D) ~2
102. 9fS sinf=cosh, T 1+ tand T A ¢ :

(A) 1 (B) 2 © 0 (D) ~2
103. The product of the roots of the quadratic equation 2x>—5x+6=0 is :

(A) 2 (B) 3 © 5 (D) 6
103. RS AN 242 —5x +6 =0 I I (FEGIF 7T (202 ¢

(A) 2 B) 3 © 5 (D) 6
103. RIS AT 202 — 5x + 6 =0 @7 T @eopet 24 ¢

(A) 2 (B) 3 © 5 (D) 6
103. 2x2—5x +6=0 ST THAFARM VSRR FASTEIIEA :

(A) 2 (B) 3 © 5 (D) 6
103. TEemd THRTOr 242 —5x +6=0 % Hall 1 OFHA &

(A) 2 B) 3 © 5 (D) 6
104. Which is the odd one out of the list ?

(A) Chapters (B) Preface (C) Index (D) Book
104. TR OIfeTAr® (FINCH! SfE 2

(A) SR (B) Il Q) ! (D) fFeivl
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104.
104.

104.

Siferole eI e <1 Ror

(A) N (B) &= < e (D) ®
TR Figrera AR fegd -

(A) = (B) T HRA™ (C) @l R (D) forsma
gRH Y PTG ISIS ®?

(A) HAHH (B) &Il (C)  STIhHTUIhT (D) Y&

105.

105.

105.

105.

105.

At a class test for 50 students, the average score was found to be 45.5 out of 100. Upon checking,
it was found that an incorrect data-entry had occurred where 85 was incorrectly entered as 58.
What should be the correct class average ?

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 G FRrmIE @Bt (R AFTHE 100 7999 fO0T0 2@ 91T 799 (2R 45.5 | e (vl o8 (T Bl 92
SEGE 85 F 120 TAF 58 I 799 TWOE 4| (R (RTICHTS 2% T W TGl w2t Toe 2

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

@35 (R ST 50 T R oG AFR () 100 €37 0L 45.5 211G TR | 2R (7 T @
G5 T SR ST TCHE, ([T 85 TSI 58 R0 2t T 2R | (RN A 91T F© 2eq
e ¢

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

1 50 FIIETHRM RG] TSGR HiAA™ T8 T9 100 376 45.5 | A R—E HHarafe @i ae-=ramd
TRifrerd 85 Wit 58 feRAT SRl | ARG o TgeT o1 ST 2

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 BT % Teh hell TU&0 § haql ol 319d h 100 § § 45.5 TR0 71| g i T, I8 9141 741 Tk T
TTeTd S2-UST g8 o, W8T 85 i Tetdl ¥ 58 % ®9 T ot fehdl T AT | Wl shell STd 1 2T =1y ?

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40
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106.

106.
106.
106.

106.

Siachen in Ladakh is an example of :

(A) Cold desert (B) Glacier (C) Plateau

GRS AR (FNER OF Sniggel ?

(A)  #res T=gfi (B) fzwiz (C) reTgf
AW Frafoe Twizge =& ¢

(A) gl SrFgfl (B) fowz (C) eTef
AR faame Jd 7 fafefer

(A) TYSENEE (B) SR% <A (C) S
e feord oo soen e ¢

(A) e fEE (B) femTg (C) WeR

(D)

GET IT ON
Google Play

Snow mountain

S IS

ERIIES

107.

107.

107.

107.

Which of the following mountain ranges is in Jammu and Kashmir region ?

(A) Pir Panjal range (B) Satpura range
(C) Dhauladhar range (D) Mishimi Hills

oo

Y SIS ST SeETS RS (FI! 2RFoNe SR 2

(A) TR lgiel siFoxen (B) ool #Riew=l
Q) (TN Aol (D) ol 2R

TR @I AT o777 @ S S2e0et SRITS 2

(A) TR SAlgle oo (B) el siFer=d
Q) (TR Aot (D) fff ofize
ool TSI FafEn s TRl SR ST ?

(A) R gt i fai (B) HaqU Bl fak
(C) R = fafk (D) fafafe s

Paper-IVIA 56


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

107. TreAfafed § I HH-5 v6d o s iR HuR &7 § § 2

(A) IR 9T goit
(C) dreur Joft

(B) gt vt
(D) Taferdt goft

GET IT ON
Google Play

108.

108.

108.

108.

108.

The sum of the roots of the quadratic equation 2x>—5x+3=0 is :

(A) 2 (B)

3
2

5
© 3

e TR 232 —5x+3 =0 TN (SO I (A (2 ¢

(A) 2 (B)

3
2

5
© 3

s A6t 2x2 — 5x +3 =0 @ =R AT & ¢

(A) 2 (B)

3
2

5
© 3

232 —5x + 3 =0 SR FHAATEM USTHRA QST

(A) 2 (B)

3
2

5
© 3

fgema FHIERROT 242 — 51 +3=0 % Heil 1 AT T :

(A) 2 (B)

3
2

©)

N | o

(D)

109.

109.

Who or What is Doraemon ?
(A) A river in Brazil
(C) A type of aircraft

(OIS & S (@ 2
(A) Fifeem G il
(C) R 95! =T

Paper-IV/IA

(B) A Hollywood actor

(D) A cartoon character

(B) @oIRIFI 2flUT SferTol
(D) <! 5 5@
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109. (OIS (I F 2
(A) aifeEr @3f6 Tl (B) ZfeioT @ wferTel
(C) «F Lo R (D) &% FH 5@
109. AT GR Tl 7 ?
(A) st g (B) wfagsh wEferufR
C) TEFE R (D) HITE -3
109. SREF HF T A FTE?
(A) SIS i Tk et (B) Uk Bledlgs Afa
(C) T YehR hl fomm (D) e ied 9RA
110. In which sport did Monalisa Baruah (Mehta) and Tridib Duarah represent Assam ?

110.

110.

110.

110.

(A) Badminton (B) Volleyball (C) Taekwondo (D) Table Tennis

o o

(@PERY (2eTo I 381 (T12e)) wiw: fama vaeiz spe elfeffag siafes ¢
(A) @G (B) SHRe (C) D[ (D) (53 (5

it <eR (CIeRel) @3 fafva qial (@ (R SpieR efofdfag e 2
(A) TIeRT (B) SfeRe (C) SRR (D) GRe @R

Tt srea (HedT) TR FAfes gommn e SeReEARRE! SAEmi SEH ort 2
(A) defa=d (B) feraet (C) dmE FHg’ (D) dfea df|

AT ageT (Fedr) iR s gor 3 forw w1 § sram 1 wfafafe foman ?
(A) defieq (B) afchalra (C) el (D) <oa fa

111.

111.

A person borrows a sum of ¥ 1,00,000 at a simple interest of 6% per annum for 2 years and invests
the amount at a compound interest of 6% per annum for 2 years. After returning the borrowed
amount with interest, the person earns a profit of :

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

& 02 TS 6% T 0 T 1,00,000 T 2 T2 A &I 371 CH SN A2 6% 5P 0 2 I8 A
13 41 Rl FRET | Q=0 @R 4 FCe-S0 SAfReid TR 21Ee TS Sew 41 9 #e] 2/ el 2z 2

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240
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111.

111.

111.

G & 2 IR T I 6% T A7 Ho7 T 1,00,000 TIF 417 (7R GIR (72 B 2 IR T A 6%
2@ 5a(a 7 RIS S | 9 72 417 5 (e (e 7)1 Jfe(ta SIfers #1re 21 2

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

IR AHEFEE SR 6% BN TRel Ye BMMF SR 2 1 9m@m 21,00,000 T SRR M SERIR 6% B
SRS Ge1'a SrER 2 1 o T €A SRR aEE T8 Esi arie e o iR s Jarew
ST ?

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

Teh e 2 91t o feT 6% Sfqad o Fiemor =2mst W T 1,00,000 i T SUR o © 7R 39 Uil 1 2 95
% feru 6% afqad & =wshafs = W o9 L €1 SR o T T = Gfed dier W Sfad o @y g
T

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

112.

112.

Identify the correct mirror image of the figure.

—
pa—
p— — — —
(A) (B) ©) (D)
— — < _—
awe bag wa nicelel A= o 7 |
—
p—
p— — — —
(A) (B) (@) (D)
— — < _—
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112. =ve foraa woltag A afely S e e |

GET IT ON
Google Play

—>
p—
<— < <
(A) (B) © (D)
> L > >
112. = e smafe et T’
—>
<
< < <—
(A) (B) © (D)
—> —> —
112. 3Tehfd sl H&I U0 Bfe g8 |
—>
p—
<— < <
(A) (B) ©) (D)
— L > >
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113.

113.

113.

113.

113.

Which of the following is an award exclusively for music industry ?

(A) The Oscars (B) Emmy Awards (C) GoldenGlobe (D) Grammy Awards

IR (@ =TT SR O3 SIge = J01 2
(A) TER (B) «fil @arCy (C) %I I (D) (2 I

oA (@0 RO Mote e @3l 2757 2
(A) SER (B) @ s7=im (C)  (aNT=A (2 (D) el 5=

MM F6 ST SHATE - SISl 9H<l € 2
(A) ITERRE (B) TH TaeH (C) Teed o (D) U TEEw

Frefafed § & SH-91 [ERR fav &9 9 H@iiia 3 & fag § 72

~

(A) AR (B) THI J&hR (C) Tiieed T (D) U qERR

114.

114.

114.

114.

114.

A person purchases x number of items at the rate of X x per item. The shop-keeper gives him a total
discount of I x after which he pays X 156. The cost per item after the discount is :

(A) %13 (B) %12 (C) %16 (D) %14

& T2 1 TTS 1 ARAF AN T FRCE | ARG (96 T T v 2IRAIT ({212 2wl 7919 #lige (o€
% 156 ~ARCAIY FRCET | (922 2N 2l2e dfOth! AT FHED (7R ¢

(A) %13 (B) %12 C %16 (D) %14

GG GG 1 7L AN T 1 AE FF @ | W9 OICE (6 T 1 WS (ST 217 (7 T 156 2AGY 6 |
QA #7 2fofb AT e 2 ¢

(A) %13 (B) 12 C) T16 (D) %14

I8 ARG x ARG TR T x S99 S Sl | AT foE o' 2 1 T e gt s faE 2156
T GHIE | ™ A 3AE G- ganf o8 o ?

(A) %13 (B) %12 (C) %16 (D) %14

T Al T x Ufd 2TESH F R x 3MeH TS 81 THAER 3 FA T x i B2 a1 ¢ 519k 918 98
% 156 1 T @ &1 B & IG U TEeH i AN © -

(A) %13 (B) 12 C) T 16 (D) %14
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115.

115.

115.

115.

115.

Which type of Democracy is presently being practised in India ?
(A) Direct Democracy (B)
(©) Social Democracy (D)

TSI SO (FIRKER 0T AbleTe 2

(A)  AG5F olTeF (B) efsifagyer ooz
(C) AWIE aicrog (D) SRR 9icoF
TE SIRCS (F LR /07 2bfeTo 2

(A) oo oloreg (B) afeffxgyers sreg
(C) IS slereg (D) SRR alerem

sTforaTerd WRAaE J1 AWM ggart-o T HiHl 2

(A)  disii ggufe (B) o< ggaru
(C) TSR gg@f-=r (D) Hd TSR ge@r-«

YR § o9 | Tohd TR i UGS eiferd © 2

Representative Democracy

Totalitarian Democracy

GET IT ON
Google Play

11e6.

116.

116.

(A) Y& ks (B) fafdfy elehd=t
(C) HmHISIh drehd (D) SAfYARRaTRl TR
225 25 16
-7 _ A e
g N
729 144 1
-7 _ X _5
(A) T (B) o7 ©) 9
\/2_75 (B e,
729 144 1
-7 _2 _3
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e o - [2 - 16
) 729 144 81 '

N 5 -2 o -5 o -1
®) -4 ® - © -5 D) -5
e, B _[B_[l6_
" \N729 144 81 )
R 5 -2 o -5 S
®) -4 ® - © -5 D) -5

117. Which of the following is incorrect in regards of the ICC Men’s ODI Cricket World Cup ?
(A) India has won the Cup twice.
(B) Australia has won the maximum number of times.
(C) England won the Cup in the first tournament.

(D) Bangladesh has never won the Cup.

117. =3 757 rfTez st fFes Tfin Wxfais W e sug 2
(A) ORCS G2 Fl7l TR TRES FRCZ |
(B) SIEERIZ A5 AN GREe FHCz |
(C) 24 FACITS T 2 Flo TS SR |

(D) JETTEH GBI (oS THere 11 T

117. 2F90a NP0 ofewiz faas Rusist i i @i o0t ey 2
(A) SR 7aF 92 F7l fErez |
(B) SR A A ferrerz|
(C) TeTe A Aferifarer farerz|

(D) IRFACH FUTE TS I |
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117.

117.

FETRRM ICC ODI fshehef™ Jgal 1T Wi TR 2F™ 96 fagforn o 7T ?

(A) YRl UG G TEHI S |

(B) referan a1 sAfRge Fife @ T@E |

(C) fifafem TAfA=ra Soi S@RI |

(D)  SCITSEN AISTSTS L@ S |

GET IT ON
Google Play

3ME L E. 20 U feadia iaieda fohehe fova v & Hed # frafafed § 4 -1 e €2

(A) 9RA T FR FHY S S|
(B) sifeforan A Tol ST aR Sfiq Sifad i

(C) T A H $reie A Y Sfm o |

(D) wiTerest A ot 9 T e g

118.

118.

118.

118.

118.

In which country was Christopher Columbus born ?

(A) Spain (B) England (C) Portugal

(@I e FITFIN TR & (2% 2

(A) iz (B) TS (C) rgsna

TFEGITFR T (@ (0 T FE 2

(A) IS (B) 2xemie (C)  corgane

fohed "R Shel e SIFM BG4 STed -

(A) ¥ (B) o= (C) g
oI hicierd o1 7 fohe <91 H g1 o1 ?
(A) oA (B) 3w (© gam

(D) TItaly

Paper-IVIA 64


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

119.

119.
119.
119.

119.

How many times has Brazil won the Football World Cup ?
(A) Three (B) Five (C) Four

Rl e (o7 QIfercet fesli 9 GReTe R0 2

(A) Tslm (B) ~If5aim (C) viAR
IS a1 Foaces raiol ez 2
(A) feq (B) #iiv (C) ™

ST JEHT Heael HIUE! Ted SR Tl ?
(A) @ 9™ (B) @A Q) ®d

SISl A Fedital fava &q fhaet ar Sirdr €2

(A) = (B) = (C) =R

GET IT ON
Google Play

(D) Seven

120.

120.

Which of the following diagrams best represents Writers, Teachers and Musicians of our society ?

« (DO [a

S N ey

o o

RS (PG HE2 ST TIER @145, BT S 75 o F5es Aes ©id AfeHfng o 2

(OO
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120. =2 @ I’ SN TSR @1F, G35 08 AAACE SIS THZI7 T 2
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121.

121.
121.
121.

121.

Who has been honoured with Assam Baibhav in 2024 ?
(A) Ratan Tata (B) Ranjan Gogoi
(C) Tapan Saikia (D) Ranjit Shekhar Mooshahary

2024 IS FIF SN (TS AN Wi 41 T2 2
(A) o GBI (B) &= sical
(C) ol =ZF (D) 3fge << @R

2024 TS FICE ST ([ T 2V T AR ?
(A) o GBI (B) & aital
(C) oI *ZFma (D) 3fge o2 PR

2024 HEARIH M S9d JHET GRAT A6 TS 2
(A) TH T (B) TSH TS
(C) dud wforan (D) I=Td ISR qRIER

2024 T 3199 Svg ¥ Ty e feman 7o ©2
(A) T T (B) IS TITE
(C) 9 Sferan (D) IS IR qERR

122.

122.

A geometric figure has two pairs of parallel lines, intersecting at right angle. One pair is of length
8 cm each, and the other pair is of 6 cm. If the longer pair size is increased by 2 cm each, while the
shorter pair is reduced by 2 cm, which of the following statements is correct ?

(A) Area of the figure decreases (B) Perimeter of the figure increases

(C) Perimeter of the figure decreases (D) Area of the figure increases

@I @F TReF Dae TS (F FAE TR AN @G (2| 3@ GRS A SGR 0
8 (5.1, S SR e 6 5.8, 1 3w W (199 AT efSi 2 6. 3 3 e 5t @ afe
2 (5.5 T g1 391 =7, (o8 Ml (@ Sfe wa 29 2

(A) TBawE CFawe g 27 (B) @R sl Ifw “I
(C) Toarh =T 2™ =ik (D) AR Faws I 2K
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122.

122.

122.
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(A)  Tormm Fifer gt wAE (B) Totam «ikfd Ihw i@
(C) Toram ~fifa gt #iica (D) oram sifet I =iiea

Y FEHAN FedfoemEE S A i SiEwr @Y @' AN SFE '@l | SREE aeee a1 8 9.,
3TREE SR 6 9.0, | fe arafed s 2 9.f. wrerer SeE SR giee st 2 9.8, S s,
37eeTl ool forgiforan e ?

(A) TR e TH st (B) ERFIfS fommn anm aret
(C) ERffS fommen wH Srerret (D) hiferdn I TS

Teh SATTHAE STTehTd H FHIR @I o & SIS Bl ©, Sl HHHI0 TR Yq=g hid ¢ | Teh Sifel i aias 8 Il
?, 3R TEd SIS Fi e 6 T T 1 AR Tl SIS B Yceh § 2 At g S §, etk B S i 2 FH HH
fepar tran ®, df frefafed § 9 e o1 heF Wer g 2

(A) TR H FAFRA T2 S g | (B) 3Tehfd T TR Sgdl T |
(C) 3Tehfd 1 UfETd = 2| (D) 3TIh{d T FAH dgd ¥ |

123.

123.

123.

123.

123.

Which of the following places does not host IPL matches ?
(A) Mumbai (B) Dharamshala (C) Patna (D) Hyderabad

fsfafe @R g IPL (S13f9s) Gz SHPs 728 2
(A) TH (B)  4FPeIeTl (C) =i (D) ZAVERW

TIOA (P SN IPL (S2fo4aT) -7 (4eT Sefore 27 =11 2
(A) TR (B)  «sfiiei (C) =I5 (D) @AW

T o SR [PL (3TRYNa) 4 Seres-mn S ?

(A) TS (B) &I (C) e (D) THESEIE

frefafad § 9 siH-91 M IPL (AENTA) J=i 1 AStem T8l ohidl  ?
(A) HoE (B) eI (C) T (D) TSR
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124. Who is the Director of the movie “Village Rockstars” ?

(A) Rima Das (B) Hima Das (C©) Munin Das (D) Queen Das
124, “fo0eTe TFBRR” AT @R 4 [FoME @9 2

(A) A (B) =i (C) T WA (D) &AW
124. “fSCeTe TG Bl Las 2IfRbIes (& 2

(A) s wm (B) feani wmd (C) = wA (D) A TR
124. ‘' fyors R’ g7 "ayAt Seafifen 9r?

(A) fome™ (B) Tewmzm (C) ¥ =™ (D) %1 T
124. ‘‘foors Yerter"' fihed o fagers &b €2

(A) T (B) Tewmzm (C) ¥ =™ (D) &1 T
125. Apart from Jaipur, which was the home ground of Rajasthan Royals during IPL 2023 ?

125.

125.

125.

125.

(A) Guwahati (B) Dharamshala (C) Bhubaneshwar (D) Panaji

fPIGF 2023 I RS IS IR T (A19LF ST A o (o= onifesy 2
(A) @G (B)  «J{eTl Q) TR (D) =i

T WO (PG SEfFae 2023 @ AN ASTEI TR qEE WS & 2
(A) ol (B)  &sfileTi (C) TR (D) S

SR ST, 2023 "R [PL 71 966 Tee IPewt faemn e 2
(A) TR (B)  EXHRICT (C) YTTR (D) UHIfS

STEUTUE 2023 % SNM, SR 6 TS TS Taed 1 Be] HEH hiA-91 o1 ?
(A) TERE (B) eIl (C)  HaTTR (D) UTSH
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Change the following (126 & 127) into passive voice.

126.

Previous climbers had cut steps in the ice.
(A) Steps had been cut in the ice (B) Steps were cut in the ice
(C) Climbers cut steps in the ice (D) Steps cut in the ice by climbers

127.

No one can do anything unless someone gives us more information.
(A) Nothing can be done without giving information.

(B) Nothing can be done unless we are given more information.
(C) Nothing can be done unless someone gives more information.
(

D) Nothing can be done without information.

128.

Which word from the following is similar to beckon ?

(A) light (B) beg (C) motion (D) hear

129.

Which of these words is closest in meaning to the word kin ?

(A)  exult (B) twist (C) friend (D) relative

130.

What would be the synonym for the word educe ?
(A) demand (B) elicit (C) ideal (D) unlawful

131.

Choose the sentence that correctly communicates the meaning in the following sentence.
(A) Barua was usually able to catch the six thirty-five train from Guwahati

(B) Barua was usually able to catch a six thirty-five train from Guwahati
(C

(D

) Barua was usually able to catch on six thirty-five train from Guwahati
)

Barua was usually able to latch the six thirty-five train from Guwahati

132.

Put the verb in brackets into the present perfect tense, and fill the space by repeating the auxiliary.
Where you (be)? —

I (be) to the dentist.

(A) have you had, I have been (B) have you gone, I have been

(C) have you been, I've been (D) went, I went
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Read the following passage and answer the questions (133-136) that follow :

The Okapi, a forest mammal of Central Africa, has presented zoologists with a number of difficult
questions since they first learned of its existence in 1900. The first was how to classify it. Because it was
horselike in dimension, and bore patches of striped hide similar to a zebra’s (a relative of the horse),
zoologists first classified it as a member of the horse family. But further studies showed that, despite
Okapis’ coloration and short necks, their closest relatives were giraffes. The Okapi’s rightful place within
the giraffe family is confirmed by its skin-covered horns (in males), two-lobed canine teeth, and long
prehensile tongue.

The vital question concerned the size of the Okapi population. Because Okapis were infrequently
captured by hunters, some zoologists believed that they were rare; however, others theorized that their
habits simply kept them out of sight. It was not until 1985, when zoologists started tracking Okapis by
affixing collars equipped with radio transmitters to briefly captured specimens, that reliable information
about Okapi numbers and habits began to be collected. It turns out that while Okapis are not as rare as
some zoologists suspected, their population is concentrated in an extremely limited chain of forestland
in north-eastern Central Africa, surrounded by savanna.

One reason for their seeming scarcity is that their coloration allows Okapis to camouflage themselves
even at close range. Another is that Okapis do not travel in groups or with other large forest mammals,
and neither frequent open riverbanks nor forage at the borders of clearings, choosing instead to keep to
the forest interior. This is because Okapis, unlike any other animal in the Central African forest, subsist
entirely on leaves: more than one hundred species of plants have been identified as part of their diet, and
about twenty of these are preferred. Okapis never eat one plant to the exclusion of others; even where
preferred foliage is abundant, Okapis will leave much of it uneaten, choosing to move on and sample
other leaves. Because of this, and because of the distribution of their food, Okapis engage in individual
rather than congregated foraging.

But other questions about Okapi behaviour arise. Why, for example, do they prefer to remain
within forested areas when many of their favourite plants are found in the open border between forest
and savanna ? One possibility is that this is a defence against predators; another is that the Okapi was
pushed into the forest by competition with other large, hoofed animals, such as the bushbuck and bongo,
that specialize on the forest edges and graze them more efficiently. Another question is why Okapis are
absent from other nearby forest regions that would seem hospitable to them. Zoologists theorize that
Okapis are relics of an era when forestland was scarce and that they continue to respect those borders

even though available forestland has long since expanded.
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133. The word hide in the first paragraph means :

(A) smell (B) evade (C) skin (D) land

134. The function of the third paragraph is to :
(A) pose a question about Okapi behaviour
(B) rebut a theory about Okapi behaviour
(C) counter the assertion that Okapis are rare

(D) explain why Okapis appeared to be rare

135. Okapis stay within the forest interior. The passage relates this to the of the Okapi.

(A) scarcity (B) mind (C) culture (D) size

136. Zoologists assume that Okapis are relics and they respect the forestland borders. It means :
(A) Okapis are humanoid creatures
(B) They are culturally inclusive
(C) They communicate with other bordering creatures

(D) None of the above

Read the following sentences (137 & 138) and try to choose the best definition for the italicized word by
searching for context clues in the sentence.

137. Mr. Powers was so gullible that he believed even the most outlandish excuses of his insincere
employees.

(A) intelligent (B) naive (C) dishonest (D) critical

138. The new shipping and receiving building is an expansive facility, large enough to meet our growing
needs.

(A) obsolete (B) meagre (C) spacious (D) costly
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Read the following passage and answer the questions (139-142) that follow :

Today, bicycles are elegantly simple machines that are common around the world. Many people ride
bicycles for recreation, whereas others use them as a means of transportation. The first bicycle, called a
draisienne, was invented in Germany in 1818 by Baron Karl de Drais de Sauerbrun. Because it was made
of wood, the draisienne wasn’t very durable nor did it have pedals. Riders moved it by pushing their feet

against the ground.

In 1839, Kirkpatrick Macmillan, a Scottish blacksmith, invented a much better bicycle. Macmillan’s
machine had tyres with iron rims to keep them from getting worn down. He also used foot-operated
cranks, similar to pedals, so his bicycle could be ridden at a quick pace. It didn’t look much like the
modern bicycle, though, because its back wheel was substantially larger than its front wheel. Although

Macmillan’s bicycles could be ridden easily, they were never produced in large numbers.

In 1861, Frenchman Pierre Michaux and his brother Ernest invented a bicycle with an improved
crank mechanism. They called their bicycle a vélocipede, but most people called it a “bone shaker”
because of the jarring effect of the wood and iron frame. Despite the unflattering nickname, the vélocipede
was a hit. After a few years, the Michaux family was making hundreds of the machines annually,

mostly for fun-seeking young people.

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design. He made the front wheel many times larger than the back wheel, put a gear on the
pedals to make the bicycle more efficient, and lightened the wheels by using wire spokes. Although this
bicycle was much lighter and less tiring to ride, it was still clumsy, extremely top-heavy, and ridden

mostly for entertainment.

It wasn’t until 1874 that the first truly modern bicycle appeared on the scene. Invented by another
Englishman, H.]. Lawson, the safety bicycle would look familiar to today’s cyclists. The safety bicycle
had equal-sized wheels, which made it much less prone to toppling over. Lawson also attached a chain
to the pedals to drive the rear wheel. By 1893, the safety bicycle had been further improved with air-
filled rubber tyres, a diamond-shaped frame, and easy braking. With the improvements provided by
Lawson, bicycles became extremely popular and useful for transportation. Today, they are built, used,

and enjoyed all over the world.

139. The first person to use a gear system on bicycles was :
(A) H.J. Lawson (B) Kirkpatrick Macmillan

(C) Pierre Michaux (D) James Starley
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140. Which of the following statements from the passage represents the writer’s opinion ?

(A) The safety bicycle would look familiar to today’s cyclists.
(B) Two hundred years ago, bicycles didn’t even exist.
(C) The Michaux brothers called their bicycle a vélocipede.

(D) Macmillan’s machine had tyres with iron rims.

141.

Read the following sentence from the fourth paragraph :

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design.

As it is used in the sentence, the underlined word revolutionized means :
(A) cancelled

(B) changed drastically

(C) became outdated

(D) exercised control over

142.

Macmillan added iron rims to the tyres of his bicycle to :
(A) add weight to the bicycle
(B) make the tyres last longer
(C) make the ride less bumpy

(D) make the ride less tiring

143.

Find the analogy of the relation between the words from those given below on the basis of the
indicative uppercase word-pair preceding the choices.

SHELF : BOOKCASE
(A) arm:leg (B) stage : curtain

(C) Dbench : chair (D) key : piano
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144.

This application was written a pen.

(A) by (B) with (C) off

GET IT ON
Google Play

145.

Choose the correct pair to fill up the blanks :
He put some on the hinge, so that it should not
(A) oil, squeak (B) water, spill

(C) colour, stand (D) paper, seat

146.

Read the following passage and answer the question that follows :

Light pollution is a growing problem worldwide. Like other forms of pollution, light pollution

degrades the quality of the environment. Where it was once possible to look up at the night sky

and see thousands of twinkling stars in the inky blackness, one now sees little more than the

yellow glare of urban sky-glow. When we lose the ability to connect visually with the vastness of

the universe by looking up at the night sky, we lose our connection with something profoundly

important to the human spirit, our sense of wonder.

The passage implies that the most serious damage done by light pollution is to our :

(A) art history (B) sense of paleness

(C) cultural advancement (D) questing spirit

147.

Everyone admired his courage.
(A) at (B) of

C) for D) no word required
©) q
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Read the passage and answer the questions (148-150) that follow :

Reality for human beings is not action or feeling but meaning. Humans are symbol using creatures; a
symbol is anything that carries a particular meaning recognised by the people who share culture. A
whistle, a wall of graffiti, a flashing red light, a fist raised in the air—all serve as symbols. We see the
human capacity to create and manipulate symbols in the various ways a simple wink of the eye can
convey interest, understanding, or insult. We are so dependent on our culture’s symbols that we take
them for granted. Often, however, we gain a heightened sense of the importance of a symbol when
someone uses it in an unconventional way. Entering an unfamiliar culture also reminds us of the power
of symbols; culture shock is nothing more than the inability to “read” meaning in one’s surroundings.
We feel lost, unsure of how to act, and sometimes frightened —a consequence of slipping outside the
symbolic web of culture. Culture shock is both what travellers experience and what they inflict on
others by acting in ways that may offend them.

148. How is reality defined as in the passage ?
(A) meaning (B) action

(C) feeling (D) web

149. In the context of the passage, which of the following does not serve as a symbol ?
(A) whistle (B) graffiti
(C) flashing red light (D) culture shock

150. In the context of the topic of the passage, when do we feel lost, or frightened ?
A)  When we lose in a competition

B

~—"

(

( When we slip outside the symbolic web of culture
(C) When we cannot locate our action
(

D) None of the above

-00o0-
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